
Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
13J-1017 64 11 1 354 617 Heat Exchanger, Interior Heating 275 x 158 x 42  Plastic / aluminium 5 (E12) 72/08 - 81/08

6 (E24) 76/04 - 88/08

13J-1019 64 11 1 368 875 Heat Exchanger, Interior Heating 220 x 158 x 42  Plastic / aluminium 3 (E30) 82/09 - 91/06

3 Convertible (E30) 85/12 - 93/10

13J-1020 64 11 1 366 680 Heat Exchanger, Interior Heating 275 x 158 x 42  Plastic / aluminium 5 (E28) 81/06 - 87/12

6 (E24) 78/09 - 90/09

13J-1021 64 11 8 391 362 Heat Exchanger, Interior Heating 265 x 140 x 42  Plastic / aluminium 3 (E30) 82/09 - 91/08

3 Convertible (E30) 85/12 - 93/10

3 Touting (E30) 87/07 - 94/06

17A-1304 32 41 1 133 158 Power Steering Pump 5 (E34) 88/01 - 91/08

17A-1341 32 41 1 137 835 Power Steering Pump 3 (E36) 90/09 - 93/10

3 Coupe (E36) 92/03 - 95/10

17A-1342 32 41 1 138 124 Power Steering Pump 02 Convertible (E10) 71/05 - 75/07

3 (E30) 82/09 - 91/06

3 (E36) 90/09 - 98/02

3 Convertible (E30) 86/04 - 93/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

3 Touring (E30) 87/07 - 93/10

3 Touring (E36) 95/01 - 99/10

5 (E28) 81/06 - 87/12

5 (E34) 91/09 - 95/09

5 Touring (E34) 91/12 - 97/01

6 (E24) 78/06 - 90/09

Z3 98/02 - 01/06

17A-1343 32 41 1 137 835 Power Steering Pump 3 (E36) 90/09 - 93/10

3 Coupe (E36) 92/03 - 95/10

17A-1344 32 41 1 137 366 Power Steering Pump 3 (E30) 87/09 - 91/06

3 Convertible (E30) 90/09 - 93/10

3 Touring (E30) 87/09 - 94/06

17A-1352 32 41 1 137 951 Power Steering Pump 3 Touring (E36) 95/01 - 99/10

17A-1354 32 41 1 141 627 Power Steering Pump 3 (E36) 95/01 - 98/02

3 Compact (E36) 95/01 - 00/08

3 Touring (E36) 95/01 - 99/10

17A-1366 32 41 1 092 433 Power Steering Pump 3 (E36) 93/07 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Convertible (E36) 94/01 - 99/04

3 Coupe (E36) 93/09 - 99/04

3 Touring (E36) 95/07 - 99/10

17A-1370 32 41 1 132 830 Power Steering Pump 5 (E34) 88/01 - 95/09

17A-1371 32 41 1 132 842 Power Steering Pump 5 (E34) 88/01 - 95/09

6 (E24) 87/08 - 89/05

7 (E32) 86/09 - 94/09

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 1 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0001 24 11 1 218 899 A/T Filter    Length : 244 mm 

Width : 155 mm 

Thickness : 26.8 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04 

5 (E34) 88/01 - 95/11 

BW-0002 24 34 1 422 513 A/T Filter    Length : 244 mm 

Width : 9 mm    

Height : 30 mm 

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04 

5 (E34) 88/01 - 95/11 

5 (E39) 95/11 - 

BW-0003 64 53 1 376 333 A/C Receiver Drier 5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0004 64 53 8 375 760 A/C Receiver Drier  5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0005 64 53 8 377 330 A/C Receiver Drier 3 (E46) 98/02 - 

3 Compact (E46) 01/06 - 

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 -

7 (E38) 94/10 - 01/11 

Z4 03/02 - 

3 Touring (E46) 99/10 -

BW-0006 13 72 1 707 021 Air Filter    Height: 58 mm 

Length: 381 mm 

Width: 150 mm

5 (E34) 88/01 - 95/11 

7 (E32) 86/09 - 94/09

BW-0007 13 72 1 726 916 Air Filter   Height : 58 mm 

Length : 327 mm 

Width : 150 mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

BW-0008 13 72 1 730 946 Air Filter    Height : 58 mm

Length : 245 mm 

Width : 178 mm 

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Convertible (E46) 00/04 -

BW-0009 13 72 1 702 907 Air Filter   Height : 57 mm 

Length : 286 mm 

Width : 150 mm

X5 (E53) 00/05 - 

7 (E38) 94/10 - 01/11

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 2 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0010 13 72 1 744 869 Air Filter    Height: 46 mm

Length: 245 mm 

Width: 178 mm 

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

BW-0011 13 71 7 532 754 Air Filter   Outer Diameter : 143 mm 

Inner Diameter  : 78.8 mm 

Height : 200 mm

3 (E90) 05/01 -

1 (E87) 04/09 -

3 Touring (E91) 05/09 -

BW-0012 13 71 7 503 141 Air Filter   Outer Diameter : 171 mm 

Inner Diameter : 69 mm 

Height : 97 mm

3 (E46) 98/02 -

3 Compact (E46) 01/06 - 

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0013 13 71 7 505 007 Air Filter    Height : 58 mm 

Length : 295 mm 

Width : 183 mm

7 (E65, E66) 01/11 -

BW-0014 13 71 7 514 832 Air Filter  Height : 58 mm 

Length : 294.5 mm 

Width : 183 mm

7 (E65, E66) 01/11 -

BW-0015 32 30 6 757 891 Airbag    E46 M3 323 325 328 330 X5

BW-0016 31 12 6 756 491 Ball Joint Front Axle, Left / Right,Lower 

Thread Size : M14x1.5 mm  

X5 (E53) 00/05 -

BW-0017 31 12 1 096 685 Ball Joint    Front Axle, Left / Right Lower 

Thread Size : M 12x1.5 mm 

For control arm only refer to:   

31 12 1 094 465   

31 12 1 094 466   

31 12 1 140 958   

31 12 1 140 957

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 -

3 Compact (E36) 94/03 - 00/08 

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

BW-0018 11 28 1 748 832 Belt Tensioner    Outer Ø : 70 mm 

Height : 26 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Convertible (E46) 00/04 - 

BW-0019 11 28 1 720 039 Belt Tensioner    Outer Ø : 75 mm 

Height : 24.5 mm

7 (E32) 86/09 - 94/09 

7 (E38) 94/10 - 01/11 

8 (E31) 90/04 - 99/12

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 3 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0020 11 28 1 736 724 Belt Tensioner   Outer Ø : 70 mm 

Height : 28 mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09 

7 (E38) 94/10 - 01/11 

8 (E31) 90/04 - 99/12

BW-0021 64 11 6 929 486 Blower Motor Resistor    X5 (E53) 00/05 -

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0022 34 41 1 160 134 Brake Cable    Length: 1631 mm 3 (E36) 90/09 - 98/02 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04

BW-0023 34 21 6 753 215 Brake Disc    Rear Axle Ventilated Holes 5 

Outer Ø 320 mm  Center Ø  75 mm

Thickness 20 mm  Min 18.4 mm 

5 (E60) 03/07 - 

5 Touring (E61) 04/06 - 

6 (E63) 04/01 - 

6 Convertible (E64) 04/04 -

BW-0024 34 21 1 166 127 Brake Disc                                                                                                                      Rear Axle Ventilated Holes 5                                                                    

Outer Ø   324 mm Center Ø  79 mm 

Thickness 20 mm   Min 18.4 mm  

7 (E65, E66) 01/11 -

BW-0025 34 21 1 164 911 Brake Disc                                                        Rear Axle Holes 5

Outer Ø  324 mm  Center Ø  75 mm

Thickness 12 mm  Min 10.4 mm     

X5 (E53) 00/05 -

BW-0026 34 21 1 164 175 Brake Disc                                                                                                                                                                                                                                  Rear Axle Holes 5   Hole circle 120 mm

Outer  Ø  299mm  Center Ø  75 mm

Thickness 20 mm  Min 18.4 mm

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0027 34 21 1 158 936 Brake Disc                                                        Rear Axle Holes 5

Outer Ø   280 mm   Center Ø  75 mm

Thickness 10 mm  Min 8.4 mm 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04

3 Coupe (E46) 99/04 - 

BW-0028 34 21 1 156 668 Brake Disc                                                        Rear Axle Holes 5   

Outer Ø   300 mm   Center Ø  75 mm

Thickness 10 mm  Min 8.4 mm 

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

BW-0029 34 21 1 155 499 Brake Disc                                                        Rear Axle Holes 5     

Outer Ø   300 mm  Center Ø  75 mm

Thickness 12 mm  Min 10.4 mm 

7 (E32) 86/09 - 94/09

BW-0030 34 21 1 1 581 Brake Disc                                                                                                                                                                For vehicles with ABS                                                                                            

Rear Axle  Holes 4                                                                                      

Outer Ø   258 mm Center Ø  62 mm

Thickness 10 mm  Min 8.4 mm 

3 (E21) 75/06 - 84/03  

3 (E30) 82/09 - 92/01 

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 4 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0031 34 11 6 756 045 Brake Disc                                                                                                                         Front axle Ventilated Holes 5                                                                          

Outer Ø   332 mm Center Ø  79 mm

Thickness 30 mm  Min 28,4 mm 

X5 (E53) 00/05 -

BW-0032 34 11 6 753 221 Brake Disc                                                                                                                                                                                                      Front Axle Holes 5                                                                                                                     

Outer Ø  324 mm Center Ø  79 mm

Thickness 30 mm Min 28.4 mm                                  

5 (E60) 03/07 - 

5 Touring (E61) 04/06 - 

6 (E63) 04/01 -  

6 Convertible (E64) 04/04 -

BW-0033 34 11 6 750 267 Brake Disc                                                                                                                                                           Front Axle Holes 5                                                                                                                      

Outer Ø   348 mm Center Ø  79 mm

Thickness 30 mm  Min 28.4 mm 

7 (E65, E66) 01/11 -

BW-0034 34 11 6 750 265 Brake Disc                                                                                                                    Front Axle Holes 5                                                                                                  

Outer Ø   324 mm Center Ø  79 mm

Thickness 30 mm  Min 28.4 mm 

7 (E65, E66) 01/11 -

BW-0035 34 11 1 160 674 Brake Disc                                                                                                                    Front Axle Holes 5                                                                                                                 

Outer Ø   286 mm Center Ø  79 mm

Thickness 22 mm   Min 20.4 mm 

Z3 95/10 -3 (E36) 90/09 - 98/02

3 (E46) 98/02 -

3 Compact (E36) 94/03 - 00/08  

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

BW-0036 34 11 1 159 895 Brake Disc                                                                                                                                Front Axle Holes 5                                                                                                                                                       

Outer Ø   324 mm Center Ø  79 mm

Thickness 30 mm  Min 28.4 mm 

5 (E39) 95/11 -  

5 Touring (E39) 97/01 -  

7 (E38) 94/10 - 01/11  

8 (E31) 90/04 - 99/12

BW-0037 34 11 1 158 042 Brake Disc                                                                                                                                                                                        Front Axle Holes 5                                                                                                                            

Outer Ø   302 mm Center Ø  79 mm

Thickness 12 mm  Min 10.4 mm  

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0038 34 11 1 157 391 Brake Disc                                                                                                                                         Front Axle Holes 5                                                                                                                                                

Outer Ø   302 mm Center Ø  79 mm

Thickness 28 mm  Min 26.4 mm  

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09 

7 (E38) 94/10 - 01/11

BW-0039 34 11 1 154 749 Brake Disc                                                                                                                    For vehicles with ABS                                                                                                                      

Front Axle Ventilated Holes 4                                                                                                                              

Outer Ø   260 mm Center Ø  66 mm

Thickness 22 mm Min 20.4 mm 

Z1 88/06 - 91/06 

3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06 

3 Convertible (E30) 85/12 - 93/10

BW-0040 34 11 1 163 081 Brake Disc                                                                                                                  Vented  Front Axle  Holes 5                                                                                                              

Outer Ø 296 mm Center Ø  76 mm

Thickness 22.0 mm Min 20.4 mm

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 5 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0041 34 11 1 159 279 Brake Pad                                                                                                                              Front Axle                                                                                                                                    

Width: 156.3 mm                                                                                                                     

Height:  63.9 mm                                                                                                                      

Thickness: 20.3 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09 

BW-0042 34 11 6 761 249 Brake Pad                                                                                                                                    Front Axle                                                                                                              

Width:  1.8 mm                                                                                                             

Height:  73.4 mm   

Thickness: 18 mm

7 (E38) 94/10 - 01/11

BW-0043 34 11 6 761 252 Brake Pad                                                                                                                            Front Axle                                                                                                                      

Width: 156.3 mm                                                                                                          

Height: 73.2 mm                                                                                                                

Thickness: .3 mm

X5 (E53) 00/05 -5 (E39) 95/11 -  

5 Touring (E39) 97/01 -  

7 (E38) 94/10 - 01/11

BW-0044 34 21 6 761 239 Brake Pad                                                                                                                                                               Rear Axle                                                                                                                             

Width: 123 mm                                                                                                                   

Height: 44.9 mm   

Thickness: 17.3 mm

Z1 88/06 - 91/06 Z3 95/10 -  

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08  

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

BW-0045 34 21 6 761 250 Brake Pad                                                                                                                          Rear Axle                                                                                                                         

Width: 123 mm                                                                                                                                      

Height: 59.2 mm                                                                                                                           

Thickness: 17.3 mm

X5 (E53) 00/05 - 

Z8 00/06 - 03/06 

3 (E46) 98/02 -

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

5 (E39) 95/11 -  

7 (E38) 94/10 - 01/11 

BW-0046 34 21 6 761 285 Brake Pad                                                                                                                        Rear Axle                                                                                                                             

Width: 123 mm                                                                                                                        

Height: (1) 59.4 mm,(2) 57.1 mm                                                                                                 

Thickness: 17.3 mm

7 (E65, E66) 01/11 -

BW-0047 34 21 6 761 286 Brake Pad                                                                                                                             Rear Axle                                                                                                                          

Width: 140.7 mm                                                                                                                          

Height: 67.8 mm                                                                                                                          

Thickness: 17.3 mm

5 (E60) 03/07 -  

7 (E65, E66) 01/11 -

BW-0048 34 11 1 161 347 Brake Pad                                                                                                                              Front Axle                                                                                                                          

Width: 94.7 mm                                                                                                                          

Height: 52 mm                                                                                                                          

Thickness: 17.5 mm

Z1 88/06 - 91/06

3 (E30) 82/09 - 92/01  

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 6 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0049 34 21 1 163 395 Brake Pad Set                                                                                                                              Rear Axle                                                                                                                         

Width : 123 mm                                                                                                                         

Height : 45 mm                                                                                                                         

Thickness : 17.3 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0050 34 11 1 163 387 Brake Pad Set                                                                                                                             Front Axle   Brake System : ATE                                                                                                                          

Width : 154.6 mm                                                                                                                          

Height : 63.5 mm                                                                                                                          

Thickness : 20.3 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0051 34 11 1 164 498 Brake Pad Set                                                                                                                             Front Axle                                                                                                                          

Width: 151.3 mm                                                                                                                          

Height:   57.7 mm                                                                                                                          

Thickness: 17.8mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -

3 Compact (E36) 94/03 - 00/08  

3 Compact (E46) 01/06 -  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04 

BW-0052 34 11 6 761 246 Brake Pad                                                                                                                             Front Axle   Brake System : ATE     

Width : 4.3 mm                                                                                                                          

Height : 73.4 mm                                                                                                                          

Thickness : 20.8 mm

Z8 00/06 - 03/06  

7 (E38) 94/10 - 01/11

BW-0053 34 35 1 164 371 Sensor, brake wear Front Axle

Length : 596 mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0054 34 35 1 164 372 Sensor, brake wear Rear Axle

Length : 1340 mm

3 (E46) 98/02 -

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 -

3 Touring (E46) 99/10 -

BW-0055 34 35 1 165 579 Sensor, brake wear Front Axle

Length :   800 mm

X5 (E53) 00/05 -

BW-0056 34 35 1 165 580 Sensor, brake wear Rear Axle

Length :   715 mm

X5 (E53) 00/05 -

BW-0057 34 35 1 182 064 Sensor, brake wear Front Axle

Length :   570 mm

7 (E38) 94/10 - 01/11

BW-0058 34 35 2 229 018 Sensor, brake wear Front Axle

Length :   830 mm

5 (E39) 95/11 - 

BW-0059 34 35 6 755 267 Sensor, brake wear Rear Axle

Length :   845 mm

7 (E65, E66) 01/11 -

BW-0060 34 35 6 764 298 Sensor, brake wear Front Axle

Length :   670 mm

5 (E60) 03/07 -

5 Touring (E61) 04/06 -

6 (E63) 04/01 -

6 Convertible (E64) 04/04 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 7 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0061 34 35 6 755 266 Sensor, brake wear Front Axle

Length :   830 mm

7 (E65, E66) 01/11 -

BW-0062 34 35 6 759 918 Sensor, brake wear Rear Axle                                                                                                                       

Length : 685 mm

5 (E60) 03/07 -  

6 (E63) 04/01 -  

6 Convertible (E64) 04/04 -

BW-0063 34 35 1 181 337    Sensor, brake wear Front Axle                                                                                                                       

Length : 776 mm

Z3 95/10 -

3 (E36) 90/09 - 98/02

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

Z3 Coupe 97/07 - 

BW-0064 34 11 2 225 107 Sensor, brake wear Front Axle, Rear Axle                                                                                                                       

Length : 220 mm

5 (E28) 80/06 - 90/06  

5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01  

6 (E24) 76/04 - 90/09  

7 (E32) 86/09 - 94/09  

8 (E31) 90/04 - 99/12

BW-0065 34 35 6 762 253 Sensor, brake wear Rear Axle

Length :   1093 mm

3 (E90) 05/01 - 

1 (E87) 04/09 - 

3 Touring (E91) 05/09 -

BW-0066 34 35 6 762 252 Sensor, brake wear Front Axle

Length :   635 mm

3 (E90) 05/01 - 

1 (E87) 04/09 - 

3 Touring (E91) 05/09 -

BW-0067 34 21 1 160 504 Brake Shoe                                                                                                                          Rear Axle                                                                                                                       

Width: 42 mm                                                                                                                       

Outer Ø : 228.6 mm

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Coupe (E36) 92/03 - 99/04

BW-0068 34 41 1 163 988 Brake Shoe                                                                                                                          Rear Axle

Width : 20 mm                                                                                                                       

Outer Ø :185 mm

3 (E46) 98/02 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 - 

5 (E39) 95/11 -  

5 Touring (E39) 97/01 -

3 Touring (E46) 99/10 -

BW-0069 31 60 7 507 403 Boot Kit / Driveshaft                                                                                                                 Transmission side X5 (E53) 00/05 -

3 (E46) 98/02 -  

3 Touring (E46) 99/10 -

BW-0070 64 31 9 071 935 Filter Cabin Air                                                                                                                      Length : 674 mm                                                                                                                 

Width : 108 mm                                                                                                                 

Height : 20 mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

X3 (E83) 04/01 -  

3 Touring (E46) 99/10 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 8 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0071 64 31 6 935 822 Filter Cabin Air                                                                                                                      Length : 328 mm                                                                                                                 

Width : 182 mm  

Height: 30 mm

5 (E60) 03/07 -  

5 Touring (E61) 04/06 -  

6 (E63) 04/01 -  

6 Convertible (E64) 04/04 -

BW-0072 64 31 1 390 836 Filter Cabin Air                                                                                                                      Length: 326 mm                                                                                                                 

Width: 163 mm  

Height: 24 mm

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0073 64 31 1 000 004 Filter Cabin Air                                                                                                                      Length: 660 mm                                                                                                                 

Width: 94.5 mm                                                                                                                 

Height: 20 mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

X3 (E83) 04/01 -  

3 Touring (E46) 99/10 -

BW-0074 64 31 9 069 926 Filter Cabin Air                                                                                                                      Length: 375 mm                                                                                                                 

Width: 185 mm                                                                                                                 

Height: 30 mm

7 (E38) 94/10 - 01/11

BW-0075 64 11 8 391 8 Filter Cabin Air                                                                                                                      Length : 267 mm                                                                                                                 

Width : 201 mm                                                                                                                 

Height : 30 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0076 64 11 1 393 489 Filter Cabin Air                                                                                                                      Length : 292 mm                                                                                                                 

Width : 170 mm                                                                                                               

Height : 25 mm     

3 (E36) 90/09 - 98/02  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04

BW-0077 64 31 8 409 044 Filter Cabin Air                                                                                                                      Length : 541 mm                                                    

Width : 258 mm                                                     

Height : 30 mm 

X5 (E53) 00/05 -

BW-0078 64 11 6 921 0 Filter Cabin Air                                                                                                                      Length: 314 mm                                                     

Width: 164 mm                                                      

Height: 30 mm

7 (E65, E66) 01/11 -

BW-0079 64 11 6 921 018 Filter Cabin Air                                                                                                                      Length: 330 mm                                                     

Width: 172 mm                                                      

Height: 30 mm

7 (E65, E66) 01/11 -

BW-0080 64 11 0 008 138 Filter Cabin Air                                                                                                                      Length: 270 mm 

Width: 204 mm

Height: 30 mm

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0081 64 31 8 409 043 Filter Cabin Air                                                                                                                      Length: 550 mm                                                                                                                           

Width: 255 mm                                                                                                                           

Height: 29 mm

X5(E53) 00/05

BW-0082 64 31 9 070 072 Filter Cabin Air                                                                                                                      Length : 358 mm                                                                                                                           

Width : 165 mm                                                                                                                           

Height : 30 mm

7 (E38) 94/10 - 01/11

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 9 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0083 12 14 1 726 590 Sensor Camshaft Position Cable length : 385 mm

Inductive Sensor Resistance : 1400 Ohm  3 

terminal

3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0084 12 14 1 703 221 Sensor Camshaft Position Cable length : 440 mm

Inductive Sensor Resistance : 13 Ohm  3 terminal

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

5 (E39) 95/11 - 

7 (E38) 94/10 - 01/11 

BW-0085 11 31 1 709 580 Camshaft    3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0086 32 21 1 096 057 Center Link                                                                                                                              Front Axle, Left Hand Drive                                                                                                   

Thread Size: 2xM12x1.5mm                                                                                           

Thread Size: 2xM16x1.5mm

7 (E38) 94/10 - 01/11

BW-0087 32 21 1 129 014 Center Link                                                                                                                                                                                        Front Axle, Left Hand Drive                                                                                           

Thread Size: 2xM10x1.0 mm

5 (E28) 80/06 - 90/06 

6 (E24) 76/04 - 90/09

BW-0088 32 21 1 138 850  Center Link                                                                                                                                                                                            Front Axle,Left Hand Drive                                                                                             

Thread Size: 2xM10x10mm 

7 (E32) 86/09 - 94/09

BW-0089 32 21 1 138 854 Center Link                                                                                                                                                                                            Front Axle,Left Hand Drive                                                                                              

Thread Size: 2xM10x10mm 

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0090 32 21 1 108 081 Drag Link                                                                                                                                                                                           Front Axle, Left Hand Drive                                                                                             

Length 500 mm                                                      

Thread size 2x M 10x1.0 mm

5 (E12) 72/08 - 81/08 

6 (E24) 76/04 - 90/09

BW-0091 31 12 1 139 991 Control Arm                                                                                                                               Front Axle, Left , Lower                                                                                                                            

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0092 31 12 1 139 992 Control Arm                                                                                                                               Front Axle, Right , Lower                                                                                                                            

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0093 31 12 1 139 987 Control Arm                                                                                                                               Front Axle, Left , Lower                                                                                                                            

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0094 31 12 1 139 988 Control Arm                                                                                                                               Front Axle, Right , Lower                                                                                                                            

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 10 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0095 31 12 1 139 999 Control Arm                                                                                                                                Front Axle, Left, Upper                                                                                                                            

Thread Size: M14x1.5mm

7 (E32) 86/09 - 94/09 

8 (E31) 90/04 - 99/12

BW-0096 31 12 1 140 000 Control Arm                                                                                                                          Front Axle, Right, Upper                                                                                                                      

Thread Size: M14x1.5mm

7 (E32) 86/09 - 94/09 

8 (E31) 90/04 - 99/12

BW-0097 31 12 1 141 097 Control Arm                                                                                                                            Front Axle, Left, Upper                                                                                                                           

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0098 31 12 1 141 098 Control Arm                                                                                                                              Front Axle, Right, Upper                                                                                                                           

Thread Size: M14x1.5mm

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0099 31 12 1 140 957 Control Arm                                                                                                                             Front Axle, Left, Lower                                                                                                                           

Thread Size ：M12x1.5mm   M14x1.5mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04  

Z3 Coupe 97/07 -  

BW-0100 31 12 1 140 958 Control Arm                                                                                                                             Front Axle, Right, Lower                                                                                                                          

Thread Size：M12x1.5mm     M14x1.5mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04  

Z3 Coupe 97/07 - 

BW-0101 31 12 6 758 5 Control Arm                                                                                                                                Front Axle, Left, Lower                                                                                                                             

Thread Size： M12x1.5mm      M14x1.5mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

Z4 03/02 -  

3 Touring (E46) 99/10 -

BW-0102 31 12 6 758 520 Control Arm                                                                                                                           Front Axle, Right, Lower                                                                                                                        

Thread Size： M12x1.5mm     M14x1.5mm

3 (E46) 98/02 -

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 -

Z4 03/02 -

3 Touring (E46) 99/10 -

BW-0103 31 12 1 094 233 Control Arm                                                                                                                           Front Axle, Left,  Lower                                                                                                                        

Thread Size: M14x1.5mm

5 (E39) 95/11 -

5 Touring (E39) 97/01 -

BW-0104 31 12 1 094 234 Control Arm                                                                                                                           Front Axle, Right, Lower                                                                                                                        

Thread Size: M14x1.5mm

5 (E39) 95/11 -

5 Touring (E39) 97/01 -

BW-0105 31 12 1 141 717 Control Arm                                                                                                                           Front Axle, Left, Upper                                                                                                                        

Thread Size: M14x1.5mm                                                                                                                        

Z8 (E52) 00/06 - 03/06

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 11 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0106 31 12 1 141 718 Control Arm                                                                                                                           Front Axle, Right, Upper                                                                                                                        

Thread Size: M14x1.5mm                                                                                                                        

Z8 (E52) 00/06 - 03/06

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0107 31 12 1 141 961 Control Arm Front Axle, Left, Lower                                                                                                                         

Thread Size:  M14x1.5mm         

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0108 31 12 1 141 962 Control Arm Front Axle, Right, Lower                                                                                                                         

Thread Size:   M14x1.5mm   

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0109 31 12 1 141 721   Control Arm      Front Axle, Left, Upper                                                                                                                         

Thread Size: M14x1.5mm     

7 (E38) 94/10 - 01/11

BW-0110 31 12 1 141 722 Control Arm                                                      Front Axle, Right, Upper                                                                                                                         

Thread Size: M14x1.5mm  

7 (E38) 94/10 - 01/11

BW-0111 31 12 1 142 087 Control Arm Front Axle, Left, Lower                                                                                                                            

Thread Size:  M14x1.5mm

7 (E38) 94/10 - 01/11

BW-0112 31 12 1 142 088 Control Arm                                                      Front Axle, Right, Lower                                                                                                                            

Thread Size:    M14x1.5mm    

7 (E38) 94/10 - 01/11

BW-0113 33 32 1 090 906 Control Arm                                                                                                                              Front Axle, Right, Lower                                                                                                                            

Thread Size:    M14x1.5mm    

Z8 00/06 - 03/06 

7 (E38) 94/10 - 01/11

BW-0114 33 32 1 090 905 Control Arm                                                                                                                                 Front Axle, Left, Lower                                                                                                                            

Thread Size:    M14x1.5mm    

Z8 00/06 - 03/06

7 (E38) 94/10 - 01/11

BW-0115 33 32 1 095 414 Control Arm                                                      Rear Axle, Left / Right,  Upper

Thread Size:    M10x1.5mm    

X5 (E53) 00/05 -

BW-0116 33 32 1 095 411 Control Arm                                                      Rear Axle, Left   

Thread Size:    M14x1.5mm   

X5 (E53) 00/05 -

BW-0117 33 32 1 095 412 Control Arm                                                      Rear Axle, Right    

Thread Size:    M14x1.5mm   

X5 (E53) 00/05 -

BW-0118 31 12 6 755 835 Control Arm                                                                                                                                  Front Axle, Left, Lower

Thread Size:    M14x1.5mm 

6 (E63) 04/01 -

6 Convertible (E64) 04/04 -

7 (E65, E66) 01/11 -

BW-0119 31 12 6 755 836 Control Arm                                                                                                                                Front Axle, Right, Lower 

Thread Size:    M14x1.5mm

6 (E63) 04/01 -

6 Convertible (E64) 04/04 -

7 (E65, E66) 01/11 -

BW-0120 33 32 1 097 264 Control Arm                                                                                                                                Rear Axle, Left / Right, Upper                                                                                                                           

Length : 211 mm                                                                                                                             

Inner Diameter : 10.15 mm                                                                                                                             

Outer Diameter : 60 mm                                                                                                                             

Outer Thread : M 10 x 1.5 mm                                                                                                                             

Thread Length : 32 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 -  

7 (E38) 94/10 - 01/11

BW-0121 31 12 1 096 316 Control Arm                                                                                                                               Front Axle, Right, Rear Incl. bushing                                                                                                                             

Length: 300 mm                                                                                                                             

Thread size: M 14x1.5 mm                                                                                                                             

For bushing only refer to:                                                                                                                             

31 12 1 124 622

X5 (E53) 00/05 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 12 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0122 31 12 1 096 315 Control Arm                                                                                                                                 Front Axle, Left, Rear Incl. bushing                                                                                                                             

Length: 300 mm                                                                                                                             

Thread size: M 14x1.5 mm                                                                                                                             

For bushing only refer to:                                                                                                                             

31 12 1 124 622

X5 (E53) 00/05 -

BW-0123 11 53 1 722 531 Coolant Flange Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04 

5 (E34) 88/01 - 95/11 

BW-0124 61 31 1 384 739 Sensor Coolant Level                                                                                                                                 Length : 95 mm         Terminals : 2                                                                                                                    

Outer Ø : 30 mm

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04  

5 (E34) 88/01 - 95/11 

BW-0125 61 31 8 360 855 Sensor Coolant Level                                                                                                                                 Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04  

5 (E39) 95/11 -  

7 (E38) 94/10 - 01/11 

BW-0126 11 14 2 249 532 Crankshaft Oil Seal                                                                                                                               Outer Ø : 65 mm                                                                                                                             

Inner Ø : 48 mm                                                                                                                             

Height : 10 mm

X5 (E53) 00/05 -  

Z3 95/10 -  

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

5 (E39) 95/11 - 

BW-0127 11 12 1 722 726 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: M20                                                           

Piston Ø : 80 mm

3 (E21) 75/06 - 84/03 

3 (E30) 82/09 - 92/01 

3 Touring (E30) 87/07 - 94/06 

3 Convertible (E30) 85/12 - 93/10 

5 (E12) 72/08 - 81/08 

5 (E28) 80/06 - 90/06 

5 (E34) 88/01 - 95/11 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 13 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0128 11 12 1 722 734 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: M20                                                                                                                              

Piston Ø : 84 mm

Z1 88/06 - 91/06 

3 (E30) 82/09 - 92/01 

3 Touring (E30) 87/07 - 94/06 

3 Convertible (E30) 85/12 - 93/10 

5 (E28) 80/06 - 90/06 

5 (E34) 88/01 - 95/11

BW-0129 11 12 1 726 617 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: M52                                                                                                                             

Piston Ø : 84 mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04 

BW-0130 11 12 1 726 623 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: M50, M52                                                                                                                             

Piston Ø : 80 mm

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04  

5 (E34) 88/01 - 95/11  

5 (E39) 95/11 -  

5 Touring (E34) 91/11 - 97/01 

BW-0131 11 12 1 743 114 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: M40, M43                                                                                                                             

Piston Ø : 84 mm

Z3 95/10 -  

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E30) 87/07 - 94/06  

3 Touring (E36) 95/01 - 99/10 

BW-0132 11 12 7 509 710 Gasket  Cylinder Head                                                                                                                                                                                                                  Engine: N40 ,N42, N45, N46                                                                                                                             

Piston Ø : 84mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

Z4 03/02 -  

3 (E90) 05/01 -  

1 (E87) 04/09 - 

BW-0133 12 11 1 312 160 Distributor Cap System BOSCH 3 (E30) 82/09 - 92/01  

3 Convertible (E30) 85/12 - 93/10

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 14 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0134 12 11 1 734 110 Distributor Rotor System BOSCH Z1 88/06 - 91/06  

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02  

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10  

5 (E28) 80/06 - 90/06  

5 (E34) 88/01 - 95/11 

BW-0135 26 12 1 226 731 Suspension, Drive Shaft                                                                                                                                 For bearing only refer to:    014 098 9017

Inner Ø :  30mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04 

BW-0136 26 12 1 229 492 Suspension, Drive Shaft                                                                                                                                 Incl. bearing                                                                                                                             

For bearing only refer to: 26 12 1 209 590

Inner Ø :  30mm

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

5 Touring (E39) 97/01 -  

Z4 03/02 -  

3 Touring (E46) 99/10 - 

BW-0137 00 34 2 611 001 Suspension, Drive Shaft                                                                                                                                 Incl. bearing                                                                                                                             

For item w/o bearing refer to:   300 261 1101

Inner Ø :  30mm

1500-00 62/10 - 72/11  

00 3.2 Coup (E9) 65/10 - 76/03  

3 (E21) 75/06 - 84/03  

5 (E12) 72/08 - 81/08  

5 (E28) 80/06 - 90/06  

6 (E24) 76/04 - 90/09  

7 (E23) 77/05 - 86/08 

BW-0138 26 12 1 226 723 Suspension, Drive Shaft                                                                                                                                 Inner Ø :  30mm 3 (E30) 82/09 - 92/01  

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10  

5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01  

7 (E32) 86/09 - 94/09

BW-0139 51 14 8 132 375 Emblem Most models

BW-0140 11 81 1 140 985 Engine Mounting                                                                                                              Front, Left / Right 3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -  

3 Compact (E36) 94/03 - 00/08  

3 Compact (E46) 01/06 -  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Convertible (E46) 00/04 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 15 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0141 11 81 1 129 286 Engine Mounting                                                                                                              Left / Right 3 (E30) 82/09 - 92/01  

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10

BW-0142 11 81 1 137 238 Engine Mounting                                                                                                              Left / Right Z3 95/10 -  

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04

BW-0143 11 81 1 133 364 Engine Mounting                                                                                                              Left / Right 5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01

BW-0144 11 81 1 094 149 Engine Mounting                                                                                                              Left 5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01  

7 (E32) 86/09 - 94/09  

8 (E31) 90/04 - 99/12

BW-0145 11 81 1 132 323 Engine Mounting                                                                                                              Left / Right 3 (E21) 75/06 - 84/03  

3 (E30) 82/09 - 92/01  

3 Convertible (E30) 85/12 - 93/10  

5 (E12) 72/08 - 81/08

BW-0146 17 13 7 787 040 Expansion Tank   Coolant                                                                                                         X5 (E53) 00/05 -  

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

3 Touring (E46) 99/10 -

BW-0147 17 13 7 787 039 Expansion Tank   Coolant  3 (E46) 02.98 - 02.05 except: 318 d, 330 d, 330 xd

3 Cabrio (E46) 04.00 -

318 Ci, 323 Ci, 325 Ci, 330 Ci

3 Coupe(E46) 04.99 - exc3Cd, 330 Cd, M3 3.2,M3 CSL

3 Touring (E46) 10.99 -    excl: 330 d, 330 xd 

X3(E83) 01.04 -  2.0 i, 2.5 i, 3.0 i 

X5 (E53) 05.00 - 3.0 i

BW-0148 17 11 1 712 6 Expansion Tank   Coolant                                                                                                         7 (E32) 86/09 - 94/09

BW-0149 17 11 1 741 167 Expansion Tank   Coolant                                                                                                         Z8 00/06 - 03/06

5 (E39) 95/11 -

5 Touring (E39) 97/01 -

7 (E38) 94/10 - 01/11

8 (E31) 90/04 - 99/12

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 16 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0150 17 11 1 712 835 Expansion Tank   Coolant                                                                                                         Z3 95/10 -

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10

3 Convertible (E30) 85/12 - 93/10 

BW-0151 17 11 1 723 520 Expansion Tank   Coolant                                                                                                         Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04 

5 (E39) 95/11 -    

5 Touring (E39) 97/01 - 

BW-0152 11 52 1 712 058 Fan Blade                                                                                                                           For fan clutch refer to:                                                                                                                              

11 52 1 709 499                                                                                                                           

No. of blades 11

Z3 95/10 - 

3 (E36) 90/09 - 98/02      

3 (E46) 98/02 -   

3 Compact (E46) 01/06 -

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 - 

BW-0153 11 52 1 712 110 Fan Blade                                                                                                                             For fan clutch refer to:                                                                                                                              

11 52 1 723 829                                                                                                                           

No. of blades 11

5 (E34) 88/01 - 95/11 

5 (E39) 95/11 -  

5 Touring (E34) 91/11 - 97/01  

5 Touring (E39) 97/01 - 

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11 

8 (E31) 90/04 - 99/12 

BW-0154 11 52 1 723 363 Fan Blade                                                                                                                           For fan clutch refer to:                                                                                                                              

11 52 1 271 416                                                                                                                           

No. of blades 11

BMW Z1 88/06 - 91/06

Z3 95/10 -

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10 

BW-0155 11 52 1 723 573 Fan Blade                                                                                                                              For fan clutch refer to:                                                                                                                              

11 52 1 271 416                                                                                                                           

No. of blades 11                                                                                                                              

Diameter : 410 mm

Z1 88/06 - 91/06

Z3 95/10 -     

3 (E30) 82/09 - 92/01   

3 (E36) 90/09 - 98/02   

3 Compact (E36) 94/03 - 00/08    

3 Touring (E30) 87/07 - 94/06    

3 Touring (E36) 95/01 - 99/10 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 17 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0156 11 52 1 271 416 Fan Clutch                                                                                                                              For fan blade refer to:                                                                                                                              

11 52 1 271 846                                                                                                                              

11 52 1 278 716                                                                                                                              

11 52 1 7 265

Z1 88/06 - 91/06

Z3 95/10 -

3 (E21) 75/06 - 84/03 

3 (E30) 82/09 - 92/01    

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08      

3 Touring (E30) 87/07 - 94/06 

BW-0157 11 52 7 505 302 Fan Clutch                                                                                                                          For fan blade refer to:                                                                                                                              

11 52 1 712 058

X5 (E53) 00/05 - 

Z3 95/10 -  

3 (E36) 90/09 - 98/02    

3 (E46) 98/02 -  

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 - 

BW-0158 26 11 1 227 410 Joint Propeller Shaft                                                                                                                          Hole Circle: 78 mm Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 (E46) 98/02 -  

3 Compact (E36) 94/03 - 00/08

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04 

BW-0159 26 11 1 109 603 Joint Propeller Shaft                                                                                                                          Hole Circle: 96 mm 1500-00 62/10 - 72/11

00 3.2 Coup (E9) 65/10 - 76/03    

5 (E12) 72/08 - 81/08 

5 (E28) 80/06 - 90/06  

6 (E24) 76/04 - 90/09   

7 (E23) 77/05 - 86/08

BW-0160 26 11 1 204 294 Joint Propeller Shaft                                                                                                                          Hole Circle: 78 mm Z1 88/06 - 91/06 

Z3 95/10 -        

1500-00 62/10 - 72/11 

3 (E21) 75/06 - 84/03  

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08 

BW-0161 13 32 1 702 632 Filter  Fuel                                                                                                                               Outer Ø : 55 mm

Inner Ø : 8 mm

Height : 300 mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02     

3 (E46) 98/02 -   

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 18 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0162 13 32 1 720 102 Filter  Fuel                                                                                                                               Outer Ø : 55 mm 

Inner Ø : 8 mm 

Height : 209 mm

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08  

3 Touring (E30) 87/07 - 94/06   

3 Convertible (E30) 85/12 - 93/10 

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04 

BW-0163 13 32 1 709 535 Filter  Fuel                                                                                                                               Outer Ø : 75/55 mm

Height : 310 mm

X5 (E53) 00/05 -   

5 (E39) 95/11 -      

5 Touring (E39) 97/01 -      

7 (E38) 94/10 - 01/11

BW-0164 13 32 7 512 018 Filter  Fuel                                                                                                                               Height: 283.3 mm

Outer Ø : 55.6 mm

Z3 95/10 -  

3 (E46) 98/02 -   

3 Compact (E46) 01/06 -   

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

Z3 Coupe 97/07 -     

3 Touring (E46) 99/10 - 

BW-0165 16 14 1 178 839 Fuel Pump 5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01      

7 (E32) 86/09 - 94/09

BW-0166 16 14 1 180 318 Fuel Pump 5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0167 16 14 6 752 368 Fuel Pump 5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0168 16 14 1 179 232 Fuel Pump Z1 88/06 - 91/06

2500 3.3 (E3) 68/10 - 77/04  

3 (E30) 82/09 - 92/01   

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10   

5 (E12) 72/08 - 81/08   

5 (E28) 80/06 - 90/06 

BW-0169 16 14 1 183 947 Fuel Pump 7 (E38) 94/10 - 01/11

BW-0170 32 41 1 094 306 Hydraulic Hose    Steering                                                                                                                        Upper 5 (E39) 95/11 -   

7 (E38) 94/10 - 01/11

BW-0171 11 28 1 726 181 Guide Pulley  V-rib Belt                                                                                                                           Outer Ø : 80 mm 

Height : 24.5 mm

Z3 95/10 -     

3 (E36) 90/09 - 98/02    

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10   

3 Convertible (E36) 93/03 - 99/04 

3 Convertible (E46) 00/04 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 19 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0172 11 28 1 731 838 Guide Pulley  V-rib Belt                                                                                                                           Outer Ø : 80 mm

Height : 28 mm

5 (E34) 88/01 - 95/11

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 

7 (E32) 86/09 - 94/09  

7 (E38) 94/10 - 01/11  

8 (E31) 90/04 - 99/12 

BW-0173 11 28 1 748 131 Guide Pulley  V-rib Belt                                                                                                                           Outer Ø : 70 mm

Height : 24.5 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -   

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E36) 93/03 - 99/04  

3 Convertible (E46) 00/04 - 

BW-0174 12 12 1 355 180 Ignition Cable Kit                                                                                                                        Engine : M10

Cap :  M4

3 (E21) 75/06 - 84/03

5 (E12) 72/08 - 81/08

BW-0175 12 13 1 703 359 Ignition Coil                                                                                                                             For vehicles without distributor

12v  3 -pole

Coupling type :  SAE

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02 

3 Convertible (E36) 93/03 - 99/04  

3 Coupe (E36) 92/03 - 99/04   

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09 

BW-0176 12 13 1 712 223 Ignition Coil  For vehicles without distributor

12v  3 -pole

Coupling type :  SAE-KontaKtfeder

X5 (E53) 00/05 -  

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -  

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 -  

5 (E39) 95/11 -    

5 Touring (E39) 97/01 - 

BW-0177 12 14 1 435 485 Sensor  Knock                                                                                                                            Cable Length : 310 mm X5 (E53) 00/05 -  

Z3 95/10 -     

3 (E46) 98/02 -     

3 Compact (E36) 94/03 - 00/08   

3 Compact (E46) 01/06 -     

3 Convertible (E46) 00/04 -   

3 Coupe (E46) 99/04 - 

BW-0178 18 21 1 245 113 Muffler Hanger    2500 3.3 (E3) 68/10 - 77/04 

3 (E21) 75/06 - 84/03 

5 (E12) 72/08 - 81/08

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 20 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0179 11 42 1 727 300 Filter  Oil                                                                                                                           Outer Ø : 80 mm

Inner Ø : 27 mm

Height : 88 mm

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08

3 Touring (E30) 87/07 - 94/06    

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E30) 85/12 - 93/10   

3 Convertible (E36) 93/03 - 99/04 

BW-0180 11 42 1 745 390 Filter  Oil                                                                                                                           Outer Ø : 83 mm

Inner Ø : 40/25 mm

Height : 161 mm

X5 (E53) 00/05 -  

Z8 00/06 - 03/06 

5 (E34) 88/01 - 95/11

5 (E39) 95/11 -   

5 Touring (E34) 91/11 - 97/01 

5 Touring (E39) 97/01 -    

7 (E32) 86/09 - 94/09 

BW-0181 11 42 7 511 161 Filter  Oil                                                                                                                           Outer Ø : 73 mm

Inner Ø : 34/9 mm 

Height : 104 mm

X5 (E53) 00/05 -  

5 (E60) 03/07 -    

5 Touring (E61) 04/06 -   

6 (E63) 04/01 -      

6 Convertible (E64) 04/04 - 

7 (E65, E66) 01/11 -

BW-0182 11 42 7 512 300 Filter  Oil                                                                                                                           Outer Ø : 83 mm

Inner Ø : 42 mm

Height : 105 mm 

X5 (E53) 00/05 -  

Z3 95/10 - 

3 (E36) 90/09 - 98/02       

3 (E46) 98/02 -   

3 Compact (E36) 94/03 - 00/08 

3 Compact (E46) 01/06 -  

3 Touring (E36) 95/01 - 99/10 

BW-0183 11 42 7 508 969 Filter  Oil                                                                                                                           Outer Ø : 73 mm

Inner Ø : 35 mm

Height : 78 mm

3 (E46) 98/02 - 

3 Compact (E46) 01/06 -   

3 Convertible (E46) 00/04 -  

3 Coupe (E46) 99/04 -  

X3 (E83) 04/01 -    

Z4 03/02 -    

3 (E90) 05/01 - 

BW-0184 11 42 1 716 2 Filter  Oil                                                                                                                           Outer Ø : 64 mm

Inner Ø : 25 mm

Height : 103 mm

Z3 95/10 -   

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02   

3 (E46) 98/02 -   

3 Compact (E36) 94/03 - 00/08   

3 Compact (E46) 01/06 -  

3 Touring (E30) 87/07 - 94/06 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 21 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0185 11 13 1 739 592 Gasket  Oil Pan Engine: M40, M42, M43 3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E30) 87/07 - 94/06 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E30) 85/12 - 93/10

3 Convertible (E36) 93/03 - 99/04 

BW-0186 11 13 1 730 234 Gasket  Oil Pan Engine: M20, M21 Z1 88/06 - 91/06 

3 (E21) 75/06 - 84/03

3 (E30) 82/09 - 92/01   

3 Touring (E30) 87/07 - 94/06 

3 Convertible (E30) 85/12 - 93/10 

5 (E12) 72/08 - 81/08  

5 (E28) 80/06 - 90/06 

BW-0187 11 13 1 437 237 Gasket  Oil Pan Engine: M50, M54, S50, S54 Z3 95/10 -

3 (E36) 90/09 - 98/02  

3 (E46) 98/02 -   

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04   

3 Convertible (E46) 00/04 - 

BW-0188 11 13 7 511 224 Gasket  Oil Pan Engine: N42, N40, N45, N46 3 (E46) 98/02 - 

3 Compact (E46) 01/06 - 

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 -  

Z4 03/02 -    

3 (E90) 05/01 -   

1 (E87) 04/09 - 

BW-0189 61 31 1 354 274 Oil Pressure Switch  3 (E21) 75/06 - 84/03 

3 (E30) 82/09 - 92/01 

3 Touring (E30) 87/07 - 94/06  

3 Convertible (E30) 85/12 - 93/10 

5 (E12) 72/08 - 81/08     

5 (E28) 80/06 - 90/06 

6 (E24) 76/04 - 90/09 

BW-0190 11 78 1 468 630 Sensor  Oxygen / Lambda                                                                                                                         Cable length : 570 mm 3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08  

3 Touring (E30) 87/07 - 94/06  

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E30) 85/12 - 93/10   

3 Convertible (E36) 93/03 - 99/04 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 22 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0191 32 41 1 097 164 Expansion Tank  Power Steering Oil 5 Touring (E61) 04/06 -    

X5 (E53) 00/05 -   

Z1 88/06 - 91/06

Z3 95/10 -   

Z8 00/06 - 03/06 

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02 

BW-0192 32 21 1 136 450 Pitman Arm                                                                                                                            Fitting Position : Front Axle ,Right 

With rubber mounting Ø: 27mm

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

6 (E24) 76/04 - 90/09

7 (E32) 86/09 - 94/09 

8 (E31) 90/04 - 99/12

BW-0193 17 11 1 742 231 Radiator Cap Inner Diameter : 28.5 mm

Outer Diameter : 56 mm

X5 (E53) 00/05 -  

Z3 95/10 -  

Z8 00/06 - 03/06  

3 (E30) 82/09 - 92/01  

3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

BW-0194 64 54 6 921 395 Blower  Air Conditioner Outer Ø : 400 mm 5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0195 17 11 7 507 972 Radiator Length : 623 mm

Width : 488 mm

Thickness : 40 mm

5 (E60) 03/07 -  

5 Touring (E61) 04/06 - 

6 (E63) 04/01 -  

6 Convertible (E64) 04/04 -

7 (E65, E66) 01/11 -

BW-0196 17 11 1 702 969 Radiator Length : 650 mm

Width : 438 mm 

Thickness : 42 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

7 (E38) 94/10 - 01/11

BW-0197 17 11 1 7 309 Radiator Length : 520 mm

Width : 440 mm 

Thickness : 34 mm

5 (E34) 88/01 - 95/11 

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

BW-0198 17 11 1 723 468 Radiator Length : 650 mm

Width : 440 mm

Thickness : 42 mm

5 (E34) 88/01 - 95/11

7 (E32) 86/09 - 94/09 

8 (E31) 90/04 - 99/12

BW-0199 17 11 1 728 905 Radiator Length : 440 mm

Width : 440 mm

Thickness : 32 mm

Z3 95/10 - 

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02  

3 Compact (E36) 94/03 - 00/08 

3 Touring (E30) 87/07 - 94/06 

3 Touring (E36) 95/01 - 99/10  

3 Convertible (E30) 85/12 - 93/10 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 23 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0200 17 11 1 740 699 Radiator Length : 520 mm

Width : 440 mm

Thickness : 34 mm

5 (E39) 95/11 - 

BW-0201 17 11 9 071 518 Radiator Length : 580 mm

Width : 445 mm

Thickness : 30 mm

3 (E46) 98/02 - 

3 Compact (E46) 01/06 -   

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 - 

Z4 03/02 - 

3 Touring (E46) 99/10 -

BW-0202 17 11 1 7 305 Radiator Length : 440 mm

Width : 328 mm

Thickness : 34 mm

3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

BW-0203 17 11 1 439 103 Radiator Length : 590 mm

Width : 598 mm

Thickness : 24 mm

X5 (E53) 00/05 -

BW-0204 11 33 1 709 063 Rocker Arm  Valve Train 3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02

3 Touring (E30) 87/07 - 94/06 

3 Convertible (E30) 85/12 - 93/10 

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09 

BW-0205 12 13 9 067 831 Rubber Sleeve Spark Plug                                X5 (E53) 00/05 -

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 -  

3 Compact (E36) 94/03 - 00/08

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

BW-0206 33 52 1 092 309 Shock Absorber    Gas                                      Rear, Left / Right   3 (E36) 90/09 - 98/02

3 (E46) 98/02 -

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04   

3 Coupe (E46) 99/04 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 24 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0207 31 35 1 091 764 Stabilizer Link Front Axle,Left / Right

Thread Size: M10 x 1.5 mm

Z1 88/06 - 91/06

Z3 95/10 -  

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E30) 87/07 - 94/06 

3 Touring (E36) 95/01 - 99/10 

BW-0208 31 35 1 095 661 Stabilizer Link Front Axle, Left 

Length : 240 mm 

Thread Size : M10 x 1.5 mm

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

BW-0209 31 35 1 095 662 Stabilizer Link Front Axle, Right

Length : 240 mm

Thread Size : M10 x 1.5 mm

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0210 31 35 1 095 664 Stabilizer Link Front Axle, Left / Right

Length : 285 mm

Thread Size : M10 x 1.5 mm

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0211 31 35 1 134 582 Stabilizer Link Front Axle, Left / Right 

Length : 240 mm 

Thread Size : M10 x 1.5 mm

3 (E36) 90/09 - 98/02 

3 Touring (E36) 95/01 - 99/10

3 Convertible (E30) 85/12 - 93/10 

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11 

BW-0212 31 35 6 750 704 Stabilizer Link Front Axle, Right 

Length : 285 mm

Thread Size : M12 x 1.5 mm

X5 (E53) 00/05 -

BW-0213 33 32 1 126 476 Stabilizer Link Rear Axle, Left / Right

Length : 50mm

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01 

6 (E24) 76/04 - 90/09

7 (E23) 77/05 - 86/08 

7 (E32) 86/09 - 94/09

BW-0214 33 55 1 092 292 Stabilizer Link Rear Axle, Left / Right

Length : 66mm 

Thread Size : M10 x 1.5 mm

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0215 33 55 1 095 696 Stabilizer Link Rear Axle, Left / Right 

Length : 77mm 

Thread Size : M10 x 1.5 mm

7 (E38) 94/10 - 01/11

BW-0216 33 55 1 096 735 Stabilizer Link Rear Axle, Left / Right 

Length : 65 mm

Thread Size : M12x1.5mm

X5 (E53) 00/05 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 25 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0217 33 55 1 135 307 Stabilizer Link Rear Axle, Left / Right

Length : 60 mm

Z3 95/10 - 

3 Compact (E36) 94/03 - 00/08 

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09

Z3 Coupe 97/07 - 

BW-0218 31 35 1 091 496 Stabilizer Link Front Axle, Left / Right 

Length: 310 mm 

Thread Size: 2x M1 0x 1.5 mm

For rear axle version refer to:

33 55 1 091 497

7 (E38) 94/10 - 01/11

BW-0219 31 35 1 095 694 Stabilizer Link Front Axle, Left / Right

Length: 270 mm

Thread Size: 2x M 10x1.5 mm

3 (E46) 98/02 -

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0220 31 35 6 753 768 Stabilizer Link Front Axle, Right 

Length: 426 mm

Thread Size: 2x M 10x1.5 mm

7 (E65, E66) 01/11 -

BW-0221 31 35 6 750 703 Stabilizer Link Front Axle, Left 

Length:358 mm

Thread size:2xM12x1.5 mm

X5 (E53) 00/05 -

BW-0222 31 35 6 753 767 Stabilizer Link Front axle, left

Length 426 mm

Thread size 2x M 10x1.5 mm

7 (E65, E66) 01/11 -

BW-0223 32 13 1 092 876 Boot, Stering System                                                                                                                           Left / Right  

For vehicles with power steering

Z8 00/06 - 03/06

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0224 32 13 6 755 065 Steering Box 3 (E46) 98/02 -

3 Compact (E46) 01/06 -   

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 -  

3 Touring (E46) 99/10 -

BW-0225 33 50 4 035 929 Suspension Strut Support Bearing                                                                                                                             Rear Axle Incl. gasket

W/o bearing

Heavy duty version

Z1 88/06 - 91/06

Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 26 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0226 31 12 1 092 010 Control Arm Bushing Set Front Axle, Left / Right

Outer Ø : 58 mm  Inner Ø : 12 mm 

Height : 68 mm : 60 mm                                                                                                                          

Heavy duty version

For control arm only  refer to: 

31 12 1 092 023,  31 12 1 092 024

Z8 00/06 - 03/06

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

BW-0227 31 12 0 006 482 Control Arm Bushing Set Front Axle, Left / Right

Length: 63mm, 76mm

Outer Ø : 66mm   Inner Ø : 14mm

For control arm only refer to:

31 12 1 141 722,  31 12 1 141 721

5 (E39) 95/11 -

5 Touring (E39) 97/01 -  

7 (E38) 94/10 - 01/11

BW-0228 31 12 1 130 123 Control Arm Bushing Set Front Axle, Left/Right

Height : 33 mm

Outer Ø : 61 mm  Inner Ø : 17.5 mm

For control arm only refer to:

31 12 1 127 726,  31 12 1 127 725

Z1 88/06 - 91/06

3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

BW-0229 31 12 1 136 606 Control Arm Bushing Front, Upper

Height : 48 mm

Outer Ø : 58 mm   Inner Ø : 14 mm

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09

BW-0230 31 12 6 757 623 Control Arm Bushing Front Axle, Lower, Left /Right

Height : 53.6 mm

Outer Ø : 66 mm  

3 (E46) 98/02 - 

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

Z4 03/02 -  

3 Touring (E46) 99/10 -

BW-0231 33 31 1 129 144 Mounting  Axle Body Rear Axle , Both Sides

Length : 104 mm

Outer Ø : 58 mm  Inner Ø : 15 mm

3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

BW-0232 33 31 1 129 760 Mounting  Axle Body Rear Axle , Both Sides

Length : 85 mm

Outer Ø : 80 mm  Inner Ø : 15 mm

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01 

7 (E32) 86/09 - 94/09

BW-0233 31 12 1 135 079 Mounting Link Front Axle, Left / Right 

Height : 33 mm

Outer Ø : 60 mm   Inner Ø : 18 mm                                                                                                                      

For kit refer to:                                                                                                                              

31 12 1 135 079                                                                                                                      

For control arm only refer to:                                                                                                                      

31 12 1 140 958,   31 12 1 140 957

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04   

Z3 Coupe 97/07 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 27 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0234 31 12 1 124 622 Mounting Link Front Axle, Left / Right

Height : 52,5 mm

Outer Ø : 46,5 mm   Inner Ø : 12 mm

For control arm only refer to:                                                                                                                      

31 12 1 096 315,  31 12 1 096 316

31 12 1 124 401,  31 12 1 124 402

31 12 1 142 088,  31 12 1 142 087

31 12 1 133 238,   31 12 1 133 237

X5 (E53) 00/05 -

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

6 (E24) 76/04 - 90/09

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11 

BW-0235 31 12 1 136 605 Mounting Link Upper Front Axle

Length : 48 mm

Outer Ø : 58 mm  Inner Ø : 14 mm

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0236 33 32 1 090 504 Mounting Link Rear Axle Left /Right

Length : 67 mm 

Outer Ø : 57 mm  Inner Ø : 16 mm

X5 (E53) 00/05 -  

Z8 00/06 - 03/06 

5 (E39) 95/11 -  

5 Touring (E39) 97/01 -  

7 (E38) 94/10 - 01/11

5 (E60) 03/07 - 

5 Touring (E61) 04/06 - 

BW-0237 32 21 1 136 452 Bushing, Steering Idler Arm Front Axle

Outer Ø : 27 mm  Inner Ø :  10 mm

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 

6 (E24) 76/04 - 90/09 

7 (E32) 86/09 - 94/09 

BW-0238 61 31 1 378 073 Temperature Switch, Radiator Fan 3-pole

Thread Size : M14 x 1.5 mm

Temp Range: 91-86 / 99-94 0C

Z3 95/10 -

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10

3 Convertible (E30) 85/12 - 93/10 -

3 Convertible (E36) 93/03 - 99/04 

BW-0239 11 28 1 731 220 Tensioner Pulley    V-rib Belt Outer Ø : 70 mm 

Height : 28 mm

5 (E34) 88/01 - 95/11

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 

7 (E32) 86/09 - 94/09 

7 (E38) 94/10 - 01/11

8 (E31) 90/04 - 99/12 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 28 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0240 64 55 1 748 321 Tensioner Pulley    V-rib Belt Outer Ø : 80 mm

Height : 21 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11 

BW-0241 32 11 1 125 186 Tie Rod Assembly Front Axle, Left 3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

BW-0242 32 11 1 125 187 Tie Rod Assembly Front Axle, Right 3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

BW-0243 32 11 1 139 315 Tie Rod Assembly                                                                                                                          Front Axle, Left Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04  

Z3 Coupe 97/07 - 

BW-0244 32 11 1 139 316 Tie Rod Assembly                                                                                                                          Front Axle, Right Z3 95/10 -

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04 

Z3 Coupe 97/07 - 

BW-0245 32 21 1 117 212 Tie Rod Assembly                                       Front Axle, Left/Right 7 (E23) 77/05 - 86/08

BW-0246 32 21 1 135 666 Tie Rod Assembly                                                                                                                           Front Axle, Left / Right 5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

6 (E24) 76/04 - 90/09

7 (E32) 86/09 - 94/09

8 (E31) 90/04 - 99/12

BW-0247 32 11 1 139 313 Tie Rod End Front Axle, Left 

Thread Size: M14x1.5 mm  M10x1.0 mm

With Right-Hand Thread

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 29 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0248 32 11 1 139 314 Tie Rod End Front Axle, Right

Thread Size: M14x1.5 mm   M10x1.0 mm

With Right-Hand Thread

Z3 95/10 -

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

BW-0249 32 21 1 091 723 Tie Rod End                                                                                                                          Front Axle, Left

Length : 215 mm

Thread Size: M16x1.5 mm     M12x1.5 mm

With Right-Hand Thread

5 (E39) 95/11 - 

5 Touring (E39) 97/01 -

BW-0250 32 21 1 091 724 Tie Rod End                                                                                                                         Front Axle, Right

Length : 215 mm

Thread Size: M16x1.5 mm     M12x1.5 mm

With Right-Hand Thread

5 (E39) 95/11 - 

5 Touring (E39) 97/01 -

BW-0251 32 21 1 095 958 Tie Rod End                                                                                                                          Front Axle, Right

Length : 248 mm

Thread Size: M14x1.5 mm   M12x1.5 mm

With Right-Hand Thread

3 (E46) 98/02 -

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0252 32 21 1 135 819 Tie Rod End                                                                                                                          Front Axle,Left / Right 

Length : 93 mm

Thread Size: M14x1.5 mm  M10x1.0 mm

With Left-Hand Thread

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

6 (E24) 76/04 - 90/09

7 (E32) 86/09 - 94/09

8 (E31) 90/04 - 99/12

BW-0253 32 21 1 135 820 Tie Rod End Front Axle,Left / Right

Length :  85 mm

Thread Size: M14x1.5 mm   M10x1.0 mm

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11  

5 Touring (E34) 91/11 - 97/01 

6 (E24) 76/04 - 90/09

7 (E32) 86/09 - 94/09

8 (E31) 90/04 - 99/12

BW-0254 32 21 1 141 345 Tie Rod End                                                                                                                          Front Axle, Left

Length : 220 mm

Thread Size: M16x1.5 mm   M12x1.5 mm

7 (E38) 94/10 - 01/11

BW-0255 32 21 1 141 346 Tie Rod End                                                                                                                        Front Axle, Right 

Length : 220 mm

Thread Size: M16x1.5 mm   M12x1.5mm

7 (E38) 94/10 - 01/11

BW-0256 32 11 1 116 463 Tie Rod End                                                                                                                    Front axle, Left / Right 

Outer Length: 75 mm

Thread Size: M 12x1.5 mm  M14x1.5 mm  

With Right Hand Thread

3 (E21) 75/06 - 84/03

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 30 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0257 24 71 1 130 188 Mounting  Man / Auto Transmission Left / Right 

Length : 43 mm, 79 mm

Outer Ø : 38 mm, 50 mm

Outer Thread : M 8 x 1.25 mm

5 (E34) 88/01 - 95/11

7 (E32) 86/09 - 94/09 

8 (E31) 90/04 - 99/12

BW-0258 24 70 1 138 427 Mounting  Man / Auto Transmission Rear Left 3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

BW-0259 23 71 1 130 400 Mounting  Man / Auto Transmission Left / Right 5 (E28) 80/06 - 90/06

6 (E24) 76/04 - 90/09

BW-0260 24 70 1 138 428 Mounting  Man / Auto Transmission Right 3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0261 23 70 1 141 532 Mounting  Man / Auto Transmission Left / Right

Length : 69.5 mm  Width : 34 mm

Thread Size : M 8x1.25 mm 

Outer Ø : 36 mm, 50 mm

3 (E36) 90/09 - 98/02

3 Touring (E36) 95/01 - 99/10

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09

8 (E31) 90/04 - 99/12

BW-0262 22 31 6 771 2 Mounting  Man / Auto Transmission Left / Right

Length : 34 mm

Outer Diameter : 36/50 mm

Z3 95/10 -  

3 (E36) 90/09 - 98/02

3 (E46) 98/02 -

3 Compact (E36) 94/03 - 00/08

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04 

BW-0263 AVX10X1025 V-Belt Width : 10 mm

Length : 1025 mm

3 (E30) 82/09 - 92/01 

3 (E36) 90/09 - 98/02

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

3 Coupe (E36) 92/03 - 99/04

BW-0264 AVX10X990 V-Belt Width : 10 mm

Length : 990 mm

5 (E34) 88/01 - 95/11

BW-0265 AVX10X730 V-Belt Width : 10 mm

Length : 730 mm

3 (E36) 90/09 - 98/02

3 Convertible (E30) 85/12 - 93/10

3 Coupe (E36) 92/03 - 99/04

BW-0266 6PK 1870 V-Ribbed Belt  Length : 1870 mm

Ribs : 6

3 (E46) 98/02 - 

3 Compact (E46) 01/06 -  

3 Touring (E46) 99/10 -

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 31 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0267 7PK 1605 V-Ribbed Belt  Length : 1605 mm

Ribs : 7

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11

8 (E31) 90/04 - 99/12

BW-0268 7PK 1633 V-Ribbed Belt Length : 1633 mm 

Ribs : 7

5 (E39) 95/11 -  

5 Touring (E39) 97/01 - 

7 (E38) 94/10 - 01/11

BW-0269 5PK 865 V-Ribbed Belt Length : 865 mm

Ribs : 5

3 (E46) 98/02 -

3 Compact (E46) 01/06 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0270 5PK 980 V-Ribbed Belt Length : 980 mm

Ribs : 5

5 Touring (E34) 91/11 - 97/01

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11 

8 (E31) 90/04 - 99/12

BW-0271 6PK 1555 V-Ribbed Belt Length : 1555 mm

Ribs : 6

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11 

BW-0272 6PK 1635 V-Ribbed Belt Length : 1635 mm

Ribs : 6

3 (E46) 98/02 -  

3 Compact (E46) 01/06 -

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0273 6PK 1875 V-Ribbed Belt Length : 1875 mm

Ribs : 6

3 (E46) 98/02 - 

3 Compact (E46) 01/06 - 

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 -

X3 (E83) 04/01 -

Z4 03/02 - 

3 (E90) 05/01 - 

BW-0274 6 PK 1538 V-Ribbed Belt Length : 1538 mm

Ribs : 6

X5 (E53) 00/05 -

Z3 95/10 - 

3 (E46) 98/02 - 

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 - 

5 (E39) 95/11 -

5 Touring (E39) 97/01 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 32 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0275 11 12 9 070 530 Gasket Set  Rocker Cover  Engine:M50 3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0276 11 12 9 070 531 Gasket Set  Rocker Cover  Engine: M50B, M52B 3 (E36) 90/09 - 98/02

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04 

5 (E34) 88/01 - 95/11 

5 Touring (E34) 91/11 - 97/01

BW-0277 11 12 9 070 532 Gasket Set  Rocker Cover  Engine: M52 Z3 95/10 -

3 (E36) 90/09 - 98/02 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04 

5 (E39) 95/11 - 

BW-0278 11 12 9 069 871 Gasket Set  Rocker Cover  Engine: M60,M62 5 (E34) 88/01 - 95/11

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 -  

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11

8 (E31) 90/04 - 99/12 

BW-0279 11 12 9 069 872 Gasket Set  Rocker Cover  Engine: M60, M62 5 (E34) 88/01 - 95/11

5 (E39) 95/11 - 

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 

7 (E32) 86/09 - 94/09 

7 (E38) 94/10 - 01/11

8 (E31) 90/04 - 99/12 

BW-0280 11 12 1 703 342 Gasket  Rocker Cover  Engine: M52 Z3 95/10 -

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04 

5 (E39) 95/11 - 

BW-0281 11 12 1 721 876 Gasket  Rocker Cover  Engine: M42B18,M44B Z3 95/10 - 

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08 

3 Coupe (E36) 92/03 - 99/04

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 33 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0282 11 42 1 7 855 Oil Filter Stand Gasket 5E34, 3E36/Z3, 7E38, 5E39, 3E46

BW-0283 11 42 1 709 800 Seal  Oil Filter E30 318i M42, 318iC                                                             

E36 318i/is/iC/ti                                                                     

Z3 1.9

BW-0284 11 53 1 740 437 Gasket  Thermostat Housing Engine: M50,M52 Z3 95/10 - 

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08  

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 - 

BW-0285 11 33 1 433 672 Rocker / Tappet Outer Ø : 16 mm 

Height : 48.5 mm

Z3 95/10 - 

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 -

3 Compact (E36) 94/03 - 00/08

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10 

BW-0286 11 28 1 717 210 Vibration Damper  V-Ribbed Belt Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04 

BW-0287 67 12 8 362 154 Water Pump  Window Cleaning 12v

Mono pump

Electric

X5 (E53) 00/05 - 

Z3 95/10 - 

Z8 00/06 - 03/06 

3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08 

3 Touring (E36) 95/01 - 99/10 

BW-0288 67 12 8 362 157 Water Pump   Headlamp Cleaning 12 V 3 (E46) 98/02 -

3 Convertible (E46) 00/04 -

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 -

BW-0289 61 66 1 380 066 Water Pump  Window Cleaning 12v

Mono pump

Electric

3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 34 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0290 11 51 1 271 435 Water Pump Engine : M20 3 (E21) 75/06 - 84/03

3 (E30) 82/09 - 92/01

3 Convertible (E30) 85/12 - 93/10

5 (E28) 80/06 - 90/06

BW-0291 11 51 1 715 292 Water Pump Engine : M40 3 (E30) 82/09 - 92/01

3 Touring (E30) 87/07 - 94/06

3 Convertible (E30) 85/12 - 93/10

5 (E34) 88/01 - 95/11

5 Touring (E34) 91/11 - 97/01

BW-0292 11 51 1 720 883 Water Pump Engine : M30, M60 5 (E12) 72/08 - 81/08

5 (E28) 80/06 - 90/06

5 (E34) 88/01 - 95/11

6 (E24) 76/04 - 90/09

7 (E23) 77/05 - 86/08

BW-0293 11 51 7 503 884 Water Pump Engine: M40,M43,M50,M52,M54 Z3 95/10 -

3 (E36) 90/09 - 98/02

3 (E46) 98/02 -

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 - 

3 Coupe (E36) 92/03 - 99/04 

BW-0294 33 41 1 130 617 Wheel Bearing Rear Axle

Height : 37 mm

Outer Ø : 75 mm  Inner Ø : 42 mm

Z3 95/10 -

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02 

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10 

BW-0295 33 41 1 124 358 Wheel Bearing Front Axle, Rear Axle 

Height : 37 mm

Outer Ø : 72 mm   Inner Ø : 39 mm

Z3 95/10 - 

3 (E30) 82/09 - 92/01

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04 

3 Coupe (E36) 92/03 - 99/04 

BW-0296 34 21 1 159 569    Brake Wheel Cylinder Rear Axle 

Ø : 23.81 mm    

3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

BW-0297 34 21 1 156 167 Wheel Brake Cylinder Rear Axle

Ø : 22.2 mm

3 (E30) 82/09 - 92/01

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 35 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0298 31 22 1 139 345 Wheel Hub Bearing Front Axle

Outer Ø : 139 mm  Inner Ø : 37 mm

Width : 64 mm

Z3 95/10 - 

3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08

3 Touring (E36) 95/01 - 99/10

3 Convertible (E36) 93/03 - 99/04

3 Convertible (E46) 00/04 - 

BW-0299 33 41 1 093 102 Wheel Hub Rear Axle

Incl. ABS sensor ring

No. of holes 4

5 (E39) 95/11 - 

5 Touring (E39) 97/01 - 

BW-0300 31 22 6 757 024 Wheel Hub Bearing Front Axle

Width : 65 mm

Outer Ø : 143 mm  Inner Ø : 37 mm

No. of holes 5

Z3 95/10 -

3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 

3 Compact (E36) 94/03 - 00/08

3 Compact (E46) 01/06 - 

3 Touring (E36) 95/01 - 99/10 

3 Convertible (E36) 93/03 - 99/04 

BW-0301 61 61 0 413 628 Wiper Blade Е60/Е61 05/10

BW-0302 11 12 1 716 226 Gasket Cylinder Head Ø :  90 mm 5 (E34) 88/01 - 91/08

7 (E32) 86/12 - 94/09

BW-0303 11 12 1 734 279 Gasket Cylinder Head Ø :  90 mm 3 (E21) 75/06 - 82/08

3 (E30) 82/09 - 90/12

5 (E12) 72/08 - 81/05

5 (E28) 83/09 - 87/12

BW-0304 11 12 1 722 725 Gasket Cylinder Head Ø :  81 mm 3 (E21) 77/09 - 82/08

3 (E30) 82/09 - 91/06

3 Convertible (E30) 86/04 - 93/10

3 Touring (E30) 88/01 - 91/12

5 (E12) 77/09 - 81/05

5 (E28) 81/06 - 87/12

5 (E34) 88/01 - 91/08

BW-0305 11 12 1 730 223 Gasket Cylinder Head Ø :  93.5 mm 5 (E28) 85/01 - 87/12

5 (E34) 88/01 - 95/09

6 (E24) 85/01 - 90/09

7 (E23) 83/05 - 86/08

7 (E32) 86/09 - 92/09

BW-0306 11 12 1 730 746 Gasket Cylinder Head Ø :  88 mm 2000 3.2 Coupe (E9) 74/09 - 76/03

5 (E12) 73/08 - 81/05

5 (E28) 81/06 - 87/12

6 (E24) 79/09 - 87/08

7 (E23) 77/05 - 86/08

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 36 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0307 11 12 1 715 452 Gasket Cylinder Head Ø :  85 mm 3 (E30) 87/09 - 91/06

3 (E36) 90/09 - 93/10

3 (E46) 00/04 - 05/02

3 Convertible (E30) 90/09 - 93/10

3 Coupe (E46) 00/04 -

3 Touring (E30) 87/09 - 94/06

5 (E34) 89/08 - 95/09

5 Touring (E34) 93/03 - 97/01

BW-0308 11 12 1 702 082 Gasket Cylinder Head Ø :  86 mm 7 (E38) 94/12 - 01/11

8 (E31) 93/04 - 99/12

BW-0309 11 12 1 702 083 Gasket Cylinder Head Ø :  86 mm 7 (E38) 94/12 - 01/11

8 (E31) 93/04 - 99/12

BW-0310 11 12 1 736 315 Gasket Cylinder Head Ø :  90 mm 5 (E34) 92/09 - 95/09

5 Touring (E34) 93/09 - 97/01

7 (E32) 92/04 - 94/09

7 (E38) 94/10 - 01/11

8 (E31) 93/02 - 96/02

BW-0311 24 27 0 219 167 Gasket Set  Automatic Transmission 3 (E36) 90/09 - 98/02

3 Compact (E36) 97/08 - 00/08

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E34) 88/01 - 95/09

5 (E39) 95/11 - 00/09

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 04/05

7 (E32) 86/12 - 94/09

7 (E38) 94/10 - 01/11

BW-0312 11 12 1 427 826 Gasket Set  Cylinder Head 3 (E36) 95/01 - 98/02

3 (E46) 98/02 - 00/06

3 Compact (E36) 97/08 - 00/08

3 Convertible (E36) 95/03 - 99/04

3 Coupe (E36) 95/01 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E39) 95/11 - 00/09

5 Touring (E39) 97/01 - 00/09

7 (E38) 95/08 - 01/11

Z3 97/04 - 00/06

BW-0313 11 12 9 064 467 Gasket Set  Cylinder Head 3 (E36) 90/09 - 95/09

3 Convertible (E36) 93/03 - 95/03

5 (E34) 91/10 - 95/09

5 Touring (E34) 91/11 - 97/01

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 37 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0314 11 11 9 064 460 Gasket Set  Crank Case 3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 89/09 - 95/09

5 Touring (E34) 91/11 - 97/01

BW-0315 11 12 1 735 721 Gasket Rocker Cover 3 (E36) 90/09 - 98/02

3 Convertible (E36) 93/12 - 99/04

3 Coupe (E36) 92/03 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E34) 89/09 - 95/09

5 Touring (E34) 91/11 - 97/01

BW-0316 11 12 1 735 720 Gasket  Rocker Cover 3 (E36) 90/09 - 98/02

3 Coupe (E36) 92/03 - 99/04

5 (E34) 98/09 - 95/09

5 Touring (E34) 91/11 - 97/01

BW-0317 10 56 301 010 Oil Seal  Automatic Transmission

BW-0318 24 11 1 215 488 Oil Seal  Automatic Transmission 3 (E30) 82/09 - 91/08

3 Convertible (E30) 85/12 - 93/10

3 Touring (E30) 87/07 - 94/06

5 (E28) 81/06 - 87/12

5 (E34) 88/01 - 95/09

6 (E24) 79/09 - 90/09

7 (E23) 77/05 - 86/08

7 (E32) 86/09 - 94/09

BW-0319 11 12 1 427 826 Gasket Set  Cylinder Head 3 (E36) 95/01 - 98/02

3 (E46) 98/02 - 00/09

3 Compact (E36) 97/08 - 00/08

3 Convertible (E36) 95/03 - 99/04

3 Coupe (E36) 95/01 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E39) 95/11 - 00/09

5 Touring (E39) 97/01 - 00/09

7 (E38) 95/08 - 01/11

Z3 97/04 - 00/06

BW-0320 11 62 1 723 656 Gasket Exhaust Manifold 5 (E34) 88/01 - 95/09

6 (E24) 85/01 - 89/05

7 (E32) 86/09 - 94/09

BW-0321 11 62 1 728 489 Gasket Exhaust Manifold 3 (E30) 82/09 - 91/08

3 Convertible (E30) 85/12 - 93/10

3 Touring (E30) 87/07 - 93/10

5 (E28) 81/09 - 87/12

5 (E34) 88/01 - 91/08

Z1 88/06 - 91/06

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 38 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0322 11 23 2 241 628 Thermostat  Cooling 92º 3 (E30) 85/09 - 91/08

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/11 - 00/08

3 Convertible (E36) 93/03 - 99/04

3 Coupe (E36) 92/03 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E28) 86/03 - 87/12

5 (E39) 95/11 - 00/09

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 00/09

7 (E38) 95/08 - 01/11

Z3 97/04 - 00/06

BW-0323 11 53 1 253 249 Thermostat  Cooling 80º 02 (E10) 67/12 - 77/07

02 Convertible (E10) 67/12 - 71/10

02 Touring (E10) 71/05 - 75/07

1500-2000 62/10 - 72/11

2000-3.2 Coupe (E10) 65/10 - 70/06

3 (E21) 75/06 - 84/03

3 (E30) 82/09 - 91/06

5 (E12) 72/08 - 81/05

5 (E28) 81/06 - 87/12

BW-0324 11 53 1 265 085 Thermostat  Cooling 80º 3 (E21) 77/09 - 82/08

3 (E30) 82/09 - 91/08

3 (E36) 91/09 - 98/02

5 (E12) 72/08 - 81/05

5 (E28) 81/06 - 87/12

5 (E34) 88/03 - 95/09

6 (E24) 86/10 - 88/10

BW-0325 11 53 1 713 040 Thermostat  Cooling 80º 3 (E30) 83/09 - 91/02

3 (E36) 90/09 - 98/02

3 (E46) 98/03 - 00/09

3 Convertible (E30) 85/12 - 93/10

3 Touring (E30) 87/07 - 93/10

5 (E12) 80/06 - 81/08

5 (E28) 81/06 - 87/12

5 (E34) 88/01 - 95/09

6 (E24) 84/03 - 90/09

7 (E23) 77/05 - 86/08

7 (E32) 86/09 - 94/09

Z1 88/06 - 91/06

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 39 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0326 11 53 1 254 065 Thermostat  Cooling 80º 2000-3.2 69/01 - 76/03

2500-3.3 68/10 - 77/04

5 (E12) 73/08 - 81/05

5 (E28) 81/06 - 87/12

6 (E24) 76/04 - 90/09

7 (E23) 77/05 - 86/08

BW-0327 11 52 1 740 962 Clutch Radiator Fan 3 (E30) 83/09 - 91/08

3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

3 Convertible (E36) 85/12 - 93/10

3 Coupe (E36) 92/03 - 99/04

3 Touring (E30) 87/07 - 94/06

3 Touring (E36) 95/01 - 99/10

5 (E28) 81/06 - 87/12

5 (E34) 88/01 - 95/09

5 (E39) 95/11 - 00/09

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 00/09

6 (E24) 76/04 - 90/09

Z1 88/06 - 91/06

Z3 95/10 - 99/03

BW-0328 11 52 1 709 499 Clutch Radiator Fan 3 (E36) 90/09 - 98/02

3 (E46) 98/02 - 05/02

3 Compact (E36) 97/08 - 00/08

3 Convertible (E36) 93/02 - 99/04

3 Convertible (E46) 00/04 -

3 Coupe (E36)  92/03 - 99/04

3 Coupe (E46) 99/04 - 

3 Touring (E36) 95/01 - 99/10

3 Touring (E46) 99/10 - 05/02

5 (E34) 88/01 - 95/09

5 (E39) 95/11 - 03/06

5 Touring (E34) 91/11 - 97/01

5 Touring (E39) 97/01 - 04/05

7 (E38) 95/08 - 01/11

X5 (E53) 00/05 - 

Z3 97/03 - 03/01

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 40 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0329 11 52 2 245 498 Clutch Radiator Fan 3 (E30) 85/09 - 91/08

3 (E36) 95/01 - 98/02

3 Compact (E36) 95/01 - 00/08

3 Touring (E30) 88/01 - 93/06

3 Touring (E36) 95/01 - 99/10

5 (E34) 88/03 - 95/09

5 Touring (E34) 91/12 - 97/01

BW-0330 11 52 2 246 042 Clutch Radiator Fan 3 (E36) 91/09 - 98/02

3 Touring (E36) 95/01 - 99/10

5 (E39) 96/01 - 03/06

5 Touring (E39) 97/03 - 04/05

7 (E38) 96/04 - 01/11

BW-0331 11 52 2 249 216 Clutch Radiator Fan 5 (E39) 98/08 - 03/06

7 (E38) 00/04 - 01/11

7 (E65, E66) 02/10 - 

X5 (E53) 01/05 - 

BW-0332 11 52 7 502 804 Clutch Radiator Fan 5 (E39) 96/04 - 03/06

7 (E32) 86/09 - 94/09

7 (E38) 94/10 - 01/11

8 (E31) 93/02 - 99/12

BW-0333 34 52 0 025 723 Sensor Wheel Speed (ABS) Front  left / right

Cable length :  690 mm

Hall sensor

5 (E39) 95/11 - 03/06

5 Touring (E39) 97/01 - 04/05

BW-0334 34 52 1 182 160 Sensor Wheel Speed (ABS) Rear  left / right

Cable length :  760 mm

Hall sensor

5 (E39) 95/11 - 03/06

BW-0335 12 12 1 717 193 Sensor RPM,  Engine Management 3 (E30) 82/09 - 91/06

3 Convertible (E30) 85/12 - 93/10

3 Touring (E30) 87/07 - 93/10

5 (E28) 81/09 - 87/12

5 (E34) 88/01 - 91/08

Z1 88/06 - 91/06

BW-0336 12 12 1 721 775 Sensor RPM,  Engine Management 3 (E30) 87/09 - 91/06

3 Convertible (E30) 90/09 - 93/10

3 Touring (E30) 89/04 - 94/06

5 (E34) 89/08 - 95/09

5 Touring (E34) 93/03 - 94/09

BW-0337 12 12 1 722 588 Sensor RPM,  Engine Management 5 (E34) 88/01 - 95/09

7 (E32) 86/12 - 94/09

BW-0338 12 12 1 725 023 Sensor RPM,  Engine Management 7 (E32) 87/09 - 94/09

8 (E31) 90/04 - 96/12

BW-0339 12 12 1 734 139 Sensor RPM,  Engine Management 3 (E36) 90/09 - 93/10

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 41 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0340 12 14 1 247 218 Sensor, Pulse Flywheel 3 (E36) 93/03 - 98/02

3 Compact (E36) 94/01 - 00/08

3 Convertible (E36) 94/01 - 99/04

3 Coupe (E36) 92/03 - 99/04 

3 Touring (E36) 95/07 - 99/10

5 (E34) 89/08 - 95/09

5 Touring (E34) 94/09 - 97/01

BW-0341 12 14 1 438 081 Sensor Camshaft Position Length :  535 mm

Ports :  3

3 (E46) 98/02 - 05/02

3 Compact (E46) 01/06 - 05/02

3 Convertible (E46) 00/04 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 - 05/02

5 (E39) 95/11 - 03/06

5 (E60) 03/07 - 

5 Touring (E39) 97/01 - 04/05

5 Touring (E61) 04/06 - 

7 (E65, E66) 03/03 - 

X3 (E83) 04/01 - 

X5 (E53) 00/05 - 

Z3 97/04 - 03/06

Z4 (E85) 02/03 -

BW-0342 12 14 1 438 082 Sensor Camshaft Position Ports :  3 1 (E81, E87) 04/09 - 

3 (E46) 98/02 - 05/02

3 (E90) 05/01 - 

3 Compact (E36) 98/12 - 00/08

3 Compact (E46) 01/06 - 05/02

3 Convertible (E46) 00/06 - 

3 Coupe (E46) 99/04 - 

3 Touring (E46) 99/10 - 05/02

3 Touring (E91) 05/01 - 

5 (E39) 95/11 - 03/06

5 (E60) 07/03 - 

5 Touring (E39) 97/01 - 04/05

5 Touring (E61) 04/06 - 

6 (E63) 04/01 - 

6 Convertible (E64) 04/04 - 

7 (E38) 95/08 - 01/11

7 (E65, E66) 01/11 - 

X3 (E83) 04/01 - 

X5 (E53) 00/05 - 

Z3 97/04 - 03/06

Z4 (E85) 03/02 - 

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 42 of 46



Replacement Parts for BMW

Our ref OE ref Product Details Applicable to
BW-0343 12 14 1 703 277 Sensor Camshaft Position Length : 795 mm

Ports :  3

3 (E36) 90/09 - 98/02

3 Compact (E36) 97/08 - 00/08

3 Convertible (E36) 93/12 - 99/04

3 Coupe (E36) 92/03 - 99/04

3 Touring (E36) 95/01 - 99/10

5 (E39) 95/11 - 00/09

5 Touring (E39) 97/01 - 00/09

7 (E38) 95/08 - 01/11

Z3 97/04 - 00/06

BW-0344 12 14 1 710 519 Sensor Camshaft Position Petrol Injection System 5 (E34) 88/01 - 95/09

7 (E32) 86/09 - 94/09

BW-0345 12 14 1 714 763 Sensor, Pulse Flywheel Length :  510 mm

Ports :  3

5 (E34) 88/01 - 95/09

6 (E24) 78/06 - 88/08

7 (E32) 86/09 - 94/09

BW-0346 12 14 1 731 887 Sensor, Pulse Flywheel Length :  465 mm

Ports :  3

5 (E34) 92/09 - 95/09

5 Touring (E34) 92/09 - 97/01

7 (E32) 92/04 - 94/09

7 (E38) 94/10 - 01/11

8 (E31) 93/02 - 96/02

BW-0347 51 23 1 960 852 Gas Spring Bonnet Eject force (N) :  320 3 (E36) 90/09 - 98/02

3 Compact (E36) 94/03 - 00/08

BW-0348 51 24 8 206 652 Gas Spring Boot Eject force (N) :  380 3 Compact (E36) 94/03 - 00/08

BW-0349 51 24 8 230 070 Gas Spring Boot Eject force (N) :  420 3 Compact (E36) 94/03 - 00/08

BW-0350 51 24 8 171 158 Gas Spring Boot Eject force (N) :  380 3 Touring (E36) 95/01 - 99/10

Email: sales@simply-parts.com Other manufacturers' numbers used for identification only Page 43 of 46



OE  Cross-references

OE ref Our ref OE ref Our ref OE ref Our ref
00 34 2 611 001 BW-0137 11 42 7 512 300 BW-0182 13 32 1 709 535 BW-0163

10 56 301 010 BW-0317 11 51 1 271 435 BW-0290 13 32 1 720 102 BW-0162

11 11 9 064 460 BW-0314 11 51 1 715 292 BW-0291 13 32 7 512 018 BW-0164

11 12 1 427 826 BW-0312 11 51 1 720 883 BW-0292 13 71 7 503 141 BW-0012

11 12 1 427 826 BW-0319 11 51 7 503 884 BW-0293 13 71 7 505 007 BW-0013

11 12 1 702 082 BW-0308 11 52 1 271 416 BW-0156 13 71 7 514 832 BW-0014

11 12 1 702 083 BW-0309 11 52 1 709 499 BW-0328 13 71 7 532 754 BW-0011

11 12 1 703 342 BW-0280 11 52 1 712 058 BW-0152 13 72 1 702 907 BW-0009

11 12 1 715 452 BW-0307 11 52 1 712 110 BW-0153 13 72 1 707 021 BW-0006

11 12 1 716 226 BW-0302 11 52 1 723 363 BW-0154 13 72 1 726 916 BW-0007

11 12 1 721 876 BW-0281 11 52 1 723 573 BW-0155 13 72 1 730 946 BW-0008

11 12 1 722 725 BW-0304 11 52 1 740 962 BW-0327 13 72 1 744 869 BW-0010

11 12 1 722 726 BW-0127 11 52 2 245 498 BW-0329 16 14 1 178 839 BW-0165

11 12 1 722 734 BW-0128 11 52 2 246 042 BW-0330 16 14 1 179 232 BW-0168

11 12 1 726 617 BW-0129 11 52 2 249 216 BW-0331 16 14 1 180 318 BW-0166

11 12 1 726 623 BW-0130 11 52 7 502 804 BW-0332 16 14 1 183 947 BW-0169

11 12 1 730 223 BW-0305 11 52 7 505 302 BW-0157 16 14 6 752 368 BW-0167

11 12 1 730 746 BW-0306 11 53 1 253 249 BW-0323 17 11 1 439 103 BW-0203

11 12 1 734 279 BW-0303 11 53 1 254 065 BW-0326 17 11 1 7 305 BW-0202

11 12 1 735 720 BW-0316 11 53 1 265 085 BW-0324 17 11 1 7 309 BW-0197

11 12 1 735 721 BW-0315 11 53 1 713 040 BW-0325 17 11 1 702 969 BW-0196

11 12 1 736 315 BW-0310 11 53 1 722 531 BW-0123 17 11 1 712 6 BW-0148

11 12 1 743 114 BW-0131 11 53 1 740 437 BW-0284 17 11 1 712 835 BW-0150

11 12 7 509 710 BW-0132 11 62 1 723 656 BW-0320 17 11 1 723 468 BW-0198

11 12 9 064 467 BW-0313 11 62 1 728 489 BW-0321 17 11 1 723 520 BW-0151

11 12 9 069 871 BW-0278 11 78 1 468 630 BW-0190 17 11 1 728 905 BW-0199

11 12 9 069 872 BW-0279 11 81 1 094 149 BW-0144 17 11 1 740 699 BW-0200

11 12 9 070 530 BW-0275 11 81 1 129 286 BW-0141 17 11 1 741 167 BW-0149

11 12 9 070 531 BW-0276 11 81 1 132 323 BW-0145 17 11 1 742 231 BW-0193

11 12 9 070 532 BW-0277 11 81 1 133 364 BW-0143 17 11 7 507 972 BW-0195

11 13 1 437 237 BW-0187 11 81 1 137 238 BW-0142 17 11 9 071 518 BW-0201

11 13 1 730 234 BW-0186 11 81 1 140 985 BW-0140 17 13 7 787 039 BW-0147

11 13 1 739 592 BW-0185 12 11 1 312 160 BW-0133 17 13 7 787 040 BW-0146

11 13 7 511 224 BW-0188 12 11 1 734 110 BW-0134 18 21 1 245 113 BW-0178

11 14 2 249 532 BW-0126 12 12 1 355 180 BW-0174 22 31 6 771 2 BW-0262

11 23 2 241 628 BW-0322 12 12 1 717 193 BW-0335 23 70 1 141 532 BW-0261

11 28 1 717 210 BW-0286 12 12 1 721 775 BW-0336 23 71 1 130 400 BW-0259

11 28 1 720 039 BW-0019 12 12 1 722 588 BW-0337 24 11 1 215 488 BW-0318

11 28 1 726 181 BW-0171 12 12 1 725 023 BW-0338 24 11 1 218 899 BW-0001

11 28 1 731 220 BW-0239 12 12 1 734 139 BW-0339 24 27 0 219 167 BW-0311

11 28 1 731 838 BW-0172 12 13 1 703 359 BW-0175 24 34 1 422 513 BW-0002

11 28 1 736 724 BW-0020 12 13 1 712 223 BW-0176 24 70 1 138 427 BW-0258

11 28 1 748 131 BW-0173 12 13 9 067 831 BW-0205 24 70 1 138 428 BW-0260

11 28 1 748 832 BW-0018 12 14 1 247 218 BW-0340 24 71 1 130 188 BW-0257

11 31 1 709 580 BW-0085 12 14 1 435 485 BW-0177 26 11 1 109 603 BW-0159

11 33 1 433 672 BW-0285 12 14 1 438 081 BW-0341 26 11 1 204 294 BW-0160

11 33 1 709 063 BW-0204 12 14 1 438 082 BW-0342 26 11 1 227 410 BW-0158

11 42 1 7 855 BW-0282 12 14 1 703 221 BW-0084 26 12 1 226 723 BW-0138

11 42 1 709 800 BW-0283 12 14 1 703 277 BW-0343 26 12 1 226 731 BW-0135

11 42 1 716 2 BW-0184 12 14 1 710 519 BW-0344 26 12 1 229 492 BW-0136

11 42 1 727 300 BW-0179 12 14 1 714 763 BW-0345 31 12 0 006 482 BW-0227

11 42 1 745 390 BW-0180 12 14 1 726 590 BW-0083 31 12 1 092 010 BW-0226

11 42 7 508 969 BW-0183 12 14 1 731 887 BW-0346 31 12 1 094 233 BW-0103

11 42 7 511 161 BW-0181 13 32 1 702 632 BW-0161 31 12 1 094 234 BW-0104

Email: sales@simply-parts.com
Other manufacturers' numbers

used for identification only Page 44 of 46



OE  Cross-references

OE ref Our ref OE ref Our ref OE ref Our ref
31 12 1 096 315 BW-0122 32 13 6 755 065 BW-0224 34 11 1 160 674 BW-0035

31 12 1 096 316 BW-0121 32 21 1 091 723 BW-0249 34 11 1 161 347 BW-0048

31 12 1 096 685 BW-0017 32 21 1 091 724 BW-0250 34 11 1 163 081 BW-0040

31 12 1 124 622 BW-0234 32 21 1 095 958 BW-0251 34 11 1 163 387 BW-0050

31 12 1 130 123 BW-0228 32 21 1 096 057 BW-0086 34 11 1 164 498 BW-0051

31 12 1 135 079 BW-0233 32 21 1 108 081 BW-0090 34 11 2 225 107 BW-0064

31 12 1 136 605 BW-0235 32 21 1 117 212 BW-0245 34 11 6 750 265 BW-0034

31 12 1 136 606 BW-0229 32 21 1 129 014 BW-0087 34 11 6 750 267 BW-0033

31 12 1 139 987 BW-0093 32 21 1 135 666 BW-0246 34 11 6 753 221 BW-0032

31 12 1 139 988 BW-0094 32 21 1 135 819 BW-0252 34 11 6 756 045 BW-0031

31 12 1 139 991 BW-0091 32 21 1 135 820 BW-0253 34 11 6 761 246 BW-0052

31 12 1 139 992 BW-0092 32 21 1 136 450 BW-0192 34 11 6 761 249 BW-0042

31 12 1 139 999 BW-0095 32 21 1 136 452 BW-0237 34 11 6 761 252 BW-0043

31 12 1 140 000 BW-0096 32 21 1 138 850 BW-0088 34 21 1 1 581 BW-0030

31 12 1 140 957 BW-0099 32 21 1 138 854 BW-0089 34 21 1 155 499 BW-0029

31 12 1 140 958 BW-0100 32 21 1 141 345 BW-0254 34 21 1 156 167 BW-0297

31 12 1 141 097 BW-0097 32 21 1 141 346 BW-0255 34 21 1 156 668 BW-0028

31 12 1 141 098 BW-0098 32 30 6 757 891 BW-0015 34 21 1 158 936 BW-0027

31 12 1 141 717 BW-0105 32 41 1 092 433 17A-1366 34 21 1 159 569    BW-0296

31 12 1 141 718 BW-0106 32 41 1 094 306 BW-0170 34 21 1 160 504 BW-0067

31 12 1 141 721   BW-0109 32 41 1 097 164 BW-0191 34 21 1 163 395 BW-0049

31 12 1 141 722 BW-0110 32 41 1 132 830 17A-1370 34 21 1 164 175 BW-0026

31 12 1 141 961 BW-0107 32 41 1 132 842 17A-1371 34 21 1 164 911 BW-0025

31 12 1 141 962 BW-0108 32 41 1 133 158 17A-1304 34 21 1 166 127 BW-0024

31 12 1 142 087 BW-0111 32 41 1 137 366 17A-1344 34 21 6 753 215 BW-0023

31 12 1 142 088 BW-0112 32 41 1 137 835 17A-1341 34 21 6 761 239 BW-0044

31 12 6 755 835 BW-0118 32 41 1 137 835 17A-1343 34 21 6 761 250 BW-0045

31 12 6 755 836 BW-0119 32 41 1 137 951 17A-1352 34 21 6 761 285 BW-0046

31 12 6 756 491 BW-0016 32 41 1 138 124 17A-1342 34 21 6 761 286 BW-0047

31 12 6 757 623 BW-0230 32 41 1 141 627 17A-1354 34 35 1 164 371 BW-0053

31 12 6 758 5 BW-0101 33 31 1 129 144 BW-0231 34 35 1 164 372 BW-0054

31 12 6 758 520 BW-0102 33 31 1 129 760 BW-0232 34 35 1 165 579 BW-0055

31 22 1 139 345 BW-0298 33 32 1 090 504 BW-0236 34 35 1 165 580 BW-0056

31 22 6 757 024 BW-0300 33 32 1 090 905 BW-0114 34 35 1 181 337    BW-0063

31 35 1 091 496 BW-0218 33 32 1 090 906 BW-0113 34 35 1 182 064 BW-0057

31 35 1 091 764 BW-0207 33 32 1 095 411 BW-0116 34 35 2 229 018 BW-0058

31 35 1 095 661 BW-0208 33 32 1 095 412 BW-0117 34 35 6 755 266 BW-0061

31 35 1 095 662 BW-0209 33 32 1 095 414 BW-0115 34 35 6 755 267 BW-0059

31 35 1 095 664 BW-0210 33 32 1 097 264 BW-0120 34 35 6 759 918 BW-0062

31 35 1 095 694 BW-0219 33 32 1 126 476 BW-0213 34 35 6 762 252 BW-0066

31 35 1 134 582 BW-0211 33 41 1 093 102 BW-0299 34 35 6 762 253 BW-0065

31 35 6 750 703 BW-0221 33 41 1 124 358 BW-0295 34 35 6 764 298 BW-0060

31 35 6 750 704 BW-0212 33 41 1 130 617 BW-0294 34 41 1 160 134 BW-0022

31 35 6 753 767 BW-0222 33 50 4 035 929 BW-0225 34 41 1 163 988 BW-0068

31 35 6 753 768 BW-0220 33 52 1 092 309 BW-0206 34 52 0 025 723 BW-0333

31 60 7 507 403 BW-0069 33 55 1 092 292 BW-0214 34 52 1 182 160 BW-0334

32 11 1 116 463 BW-0256 33 55 1 095 696 BW-0215 51 14 8 132 375 BW-0139

32 11 1 125 186 BW-0241 33 55 1 096 735 BW-0216 51 23 1 960 852 BW-0347

32 11 1 125 187 BW-0242 33 55 1 135 307 BW-0217 51 24 8 171 158 BW-0350

32 11 1 139 313 BW-0247 34 11 1 154 749 BW-0039 51 24 8 206 652 BW-0348

32 11 1 139 314 BW-0248 34 11 1 157 391 BW-0038 51 24 8 230 070 BW-0349

32 11 1 139 315 BW-0243 34 11 1 158 042 BW-0037 5PK 865 BW-0269

32 11 1 139 316 BW-0244 34 11 1 159 279 BW-0041 5PK 980 BW-0270

32 13 1 092 876 BW-0223 34 11 1 159 895 BW-0036 6 PK 1538 BW-0274

Email: sales@simply-parts.com
Other manufacturers' numbers

used for identification only Page 45 of 46



OE  Cross-references

OE ref Our ref OE ref Our ref OE ref Our ref
61 31 1 354 274 BW-0189

61 31 1 378 073 BW-0238

61 31 1 384 739 BW-0124

61 31 8 360 855 BW-0125

61 61 0 413 628 BW-0301

61 66 1 380 066 BW-0289

64 11 0 008 138 BW-0080

64 11 1 354 617 13J-1017

64 11 1 366 680 13J-1020

64 11 1 368 875 13J-1019

64 11 1 393 489 BW-0076

64 11 6 921 0 BW-0078

64 11 6 921 018 BW-0079

64 11 6 929 486 BW-0021

64 11 8 391 362 13J-1021

64 11 8 391 8 BW-0075

64 31 1 000 004 BW-0073

64 31 1 390 836 BW-0072

64 31 6 935 822 BW-0071

64 31 8 409 043 BW-0081

64 31 8 409 044 BW-0077

64 31 9 069 926 BW-0074

64 31 9 070 072 BW-0082

64 31 9 071 935 BW-0070

64 53 1 376 333 BW-0003

64 53 8 375 760 BW-0004

64 53 8 377 330 BW-0005

64 54 6 921 395 BW-0194

64 55 1 748 321 BW-0240

67 12 8 362 154 BW-0287

67 12 8 362 157 BW-0288

6PK 1555 BW-0271

6PK 1635 BW-0272

6PK 1870 BW-0266

6PK 1875 BW-0273

7PK 1605 BW-0267

7PK 1633 BW-0268

AVX10X1025 BW-0263

AVX10X730 BW-0265

AVX10X990 BW-0264

Email: sales@simply-parts.com
Other manufacturers' numbers

used for identification only Page 46 of 46


